


CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONTENTS 50Hz
Rev. |
Page

- SPECIFICATION 200
SPECIFICATION 201
SELECTION CHART 203-204
TYPE KEY AND CURVE SPECIFICATIONS 205-206-207
PERFORMANCE CURVE 32-125 208
PERFORMANCE CURVE 32-160 209
PERFORMANCE CURVE 32-200 210
PERFORMANCE CURVE 40-125 211
PERFORMANCE CURVE 40-160 212
PERFORMANCE CURVE 40-200 213
PERFORMANCE CURVE 50-125 214
PERFORMANCE CURVE 50-160 215
PERFORMANCE CURVE 50-200 216
PERFORMANCE CURVE 65-125 217
PERFORMANCE CURVE 65-160 218
PERFORMANCE CURVE 65-200 219
PERFORMANCE CURVE 65-250 220
PERFORMANCE CURVE 80-160 221
PERFORMANCE CURVE 80-200 222
PERFORMANCE CURVE 80-250 223

- CONSTRUCTION 300
SECTIONAL VIEW DRAWING 3(.)M4 32, 40, 50, 65-125/160/200 300
SECTIONAL VIEW TABLE 3(.)M4 32, 40, 50, 65-125/160/200 301
SECTIONAL VIEW DRAWING 3LM4 80-160 302
SECTIONAL VIEW TABLE 3LM4 80-160 303
SECTIONAL VIEW DRAWING 3LM4 65-250, 80-200/250 304
SECTIONAL VIEW TABLE 3LM4 65-250, 80-200/250 305
SECTIONAL VIEW DRAWING 3(.)S4 32, 40, 50, 65-125/160/200 306
SECTIONAL VIEW TABLE 3(.)S4 32, 40, 50, 65-125/160/200 307
SECTIONAL VIEW DRAWING 3LS4 80-160 308
SECTIONAL VIEW TABLE 3LS4 80-160 309
SECTIONAL VIEW DRAWING 3LS4 65-250, 80-200/250 310
SECTIONAL VIEW TABLE 3LS4 65-250, 80-200/250 311
SECTIONAL VIEW DRAWING 3(.)P4 32, 40, 50, 65-125/160/200 312
SECTIONAL VIEW TABLE 3(.)P4 32, 40, 50, 65-125/160/200 313
SECTIONAL VIEW DRAWING 3LP4 80-160 314
SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250 315-316
SECTIONAL VIEW TABLE 3LP4 80-160 317
SECTIONAL VIEW TABLE 3LP4 65-250, 80-200/250 318

100

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONTENTS S50Hz
Rev. |
BEARINGS 3(.)M4-3(.)S4 319
BEARINGS 3(.)P4 320
MECHANICAL SEAL (standard, H and E version) 321
MECHANICAL SEAL (L version @ 22) 322
MECHANICAL SEAL (L version @ 30) 323
MECHANICAL SEAL (HS version) 324
MECHANICAL SEAL (HW and HSW version) 325
COUPLING 3(.)S4 326
FLEXIBLE COUPLING 3(.)P4 327
FITTINGS 328-329
- DIMENSIONS AND WEIGHT 400
PUMP 3(.)M4 32, 40, 50, 65-125/160/200 400
PUMP 3(.)M4 65-250, 80-160/200, 80-250/5.5 401
PUMP 3(.)M4 80-250/7.5 402
PUMP 3(.)S4 32, 40, 50, 65-125/160 403
PUMP 3(.)S4 50, 65-160/200 404
PUMP 3LS4 65-250, 80 405
PUMP 3LS4 80-160/1.5 406
PUMP 3(.)P4 32, 40, 50, 65-125/160/200 407
PUMP 3LP4 65-250, 80 408
PACKING 3(.)M4 409
PACKING 3(.)S4 410
PACKING 3(.)P4 411
- TECHNICAL DATA 500
MOTOR DATA 3(.)M4 500
MOTOR DATA 3(.)S4-3(.)P4 501
NOISE DATA 3(.)M4 502
NOISE DATA 3(.)S4-3(.)P4 503
101

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION

S50Hz

Rev. |

Version

w
<
Ny

w
wn
D

3P4

3LM4

3LS4

3LP4

Pump sizes

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

50-200

65-125

65-160

65-200

65-250

80-160

80-200

80-250

B Available also with H, HS, HW, HSW, E version.

@ Available also with H, HW, HSW, E version.

— Not available.

200

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION 50Hz
Rev. |
Version 3M4 354 : 3P4 [ ama | 3Ls4 3LP4
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains
glycol for E option
Liquid min. -10 min. -10
Handled min. -20 (E version) min. -20 (E version)
Temperature [°C] max. +90 max. +110

max. +110 (H-HS-HW-HSW version)
max. +120 (E version)
(For version see page 321+325)

max. +110 (H-HW-HSW version)
max. +120 (E version)
(For version see page 321+325)

Maximum working pressure

[MPa]

1

Closed centrifugal type for 32, 40, 50 version

Impeller Reinforced laser welding for 40-200/1.5, 50-200/2.2
. Closed centrifugal three dimensional blades for 65 and 80 version
Construction Mechanical seal with stationary ring
Shaft seal type Mechanical seal ] .
secured against rotation
Bearing Bearing with contact seal
32-125/160/200 Flange DN50 according DIN 2532 Standard
Suction ggggﬁggggg Flange DN65 according DIN 2532 Standard
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 Standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
32-125/160/200
40-125/160/200
Casing 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Impeller 50-125/160/200 _ .
65-125/160/200 EN 1.4401 (AISI 316) made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200
Casing cover 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AlISI 316L)
. 65-125/160/200
Material

65-250
80-160/200/250

EN 1.4401 (AISI 316)
made by precision casting

Mechanical
seal

32-125/160/200
40-125/160/200
50-125/160/200
65-125/160/200

Ceramic/Carbon/NBR
(See page 321+325)

65-250
80-160/200/250

/

SiC/SiC/FPM (L version)
(See page 321+325)

O-ring

FPM
(See page 321+325)

Shaft

NBR
(See page 321+325)
32,40,50,65 [d=19
50-200/2.2 d=22 EN 1.4301 (AISI 304)
80-160 d=19
65-250 _ /
80-200/250 d=24

EN 1.4404 (AlISI 316L)

Bracket

Cast iron - Aluminium

Applicable standard of test

ISO 9906 — Annex A

201

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SPECIFICATION S50Hz
Rev. |
MOTOR
3(.)M4 | 3(.)S4 | 3(.)P4
Type Electric - TEFC
Three Phase
- - from 0.25 kW up to 0.55 kW
Efficiency level (Reg. 640/2009) IE2 from 0.75 KW up to 7.5 kW
No. of Poles 4
Rotation speed [min™] = 1400
Insulation Class F (class B fot temperature rise)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 025+75
[HP] 0.33+10
Frequency [Hz] 50
230/400 £10% (up to 4.0 kW)
Voltage V] 400/690 +10% (5.5 kW and above)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
PG11 M20x1.5
. . PG13.5
Dimensions of cable entry M25x1.5
PG16 M32x1.5
PG21 '
IM B5
(up to 1.5 kW)
Flange mount (IEC motor) / IM B35 IM B3
(2.2 kw and above)
202

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

SELECTION CHART 50Hz
Rev. |
U.S.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
L N N N N Y NN U A AN NN TN N AN SN NN N RN S
— — T T T T T T T T T T T T T T T T I
Imp.g.p.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
30
H 80-250775 2 5 H
[m] 20 65~250 7 [ft]
32-200/0.751 ~ /5'5\ RSN
T— _~ T — 40:200 7";-'--. =~ 655250 /40
15 ~- I D ]
N ] 0 N
32-200/) 55, - . \1;2'2
1
0 32“200 /0. 5‘5R‘ ™~ 'f~~~ N
9 32-160/0,37 T TP \\
8 BRSNS
-
7 32~160/0‘ IR ™SS -
~ ~NU
MEE T AR I NQED
5 T L .
\\\\ (
\\ } \
4 N
\ [
3

e~
7
D
P ——

/
1

50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500

Q [I/min]

T T T T T I I I I L I |
3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150

Q [m /h]

203

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

SELECTION CHART

S50Hz

Rev. |
3 SERIES 4 Poles: 32, 40, 50 Version
Power ) Q=Capacity
Pump type /min 0 I 50 100 } 150 I 175 } 200 } 250 I 300 I 350 400 I 500 I 600 } 650
mih 0 3 6 9 10.5 12 15 18 21 24 30 36 39
(kW] | [HP] H=Total manometric head in meters
32-125/0.25 0.25 | 0.33 57 55 4.7 35 2.8 - - - - - - - -
32-160/0.37R 0.37] 05 73] 7 6.2 5 4.2 - - - - - - - -
32-160/0.37 0.37] 05 o] 87 8.1 7 6.3 - - - - - - - -
32-200/0.55R 0.55 | 0.75 10.8] 10.3 9.2 7.3 6.2 - - - - - - - -
32-200/0.55 0.55 | 0.75 125] 12 11 9.2 8 - - - - - - - -
32-200/0.75 075 1 175] 171 | 16.1 14.3 13.2 - - - - - - - -
40-125/0.37R 0.37] 05 51] - 4.8 45 4.3 4 3.4 2.6 1.8 - - - -
40-125/0.37 0.37] 05 65 - 6.3 6 5.8 55 4.9 4.2 3.4 - - - -
40-160/0.55R 0.55 | 0.75 77 - 7.3 6.9 6.6 6.3 5.7 5 43 - - - -
40-160/0.55 0.55 | 0.75 91| - 8.6 8.1 7.8 75 6.9 6.2 5.4 - - - -
40-200/1.1R 11| 15 1.6 - 11.2 10.8 10.5 | 10.1 9.4 8.6 7.8 - - - -
40-200/1.1 11| 15 13.6] - 13.2 12.7 124 | 121 114 | 106 9.6 - - - -
40-200/1.5 15 2 18] - 17.7 17.3 17.1 | 16.8 16.1 152 | 14.2 - - - -
50-125/0.55R 0.55 | 0.75 54| - - - - 5.2 5 4.7 4.4 4 3.2 2.3 -
50-125/0.55 0.55 | 0.75 6.4 - - - - 6.2 6 5.7 5.4 5 4.2 3.3 -
50-160/1.1R 11 ] 15 82 - - - - 7.8 7.6 7.2 6.9 6.4 55 4.5 4
50-160/1.1 11 ] 15 95 - - - - 9.1 8.9 8.6 8.3 7.9 7 6 5.5
50-200/1.5R 15[ 2 127 - - - - 12.1 11.8 11.4 11 10.5 9.3 8 7.2
50-200/1.5 15[ 2 14 - - - - 13.3 13 127 | 122 11.8 10.6 9.2 8.4
50-200/2.2 22| 3 17.8] - - - - 17.5 17.3 17 16.6 16.2 15.1 13.8 13.1
3 SERIES 4 Poles: 65, 80 Version
Power Q=Capacity
Pump type I/imin 0| 300 | 350 | 500 | 600 | 800 | 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800 | 2000 | 2200
mi¥h O 18 | 21 | 30 | 36 | 48 | 57 | 60 63 66 72 78 84 96 | 108 | 120 | 132
kW] | [HP] ) ;
H=Total manometric head in meters
65-125/0.55 0.55 | 0.75 53[ 48] 46 | 4 | 35| 23 | 14 - - - -
65-125/0.75 075 | 1 64| 6 | 58 | 52 | 46 | 35 | 25 | 22 - - -
65-125/1.1 1.1 1.5 7.7 7.2 7 6.3 5.7 4.5 35 3.2 2.8 - -
65-160/1.1 1.1 1.5 8.6 8.1 7.4 6.9 5.7 4.6 4.2 3.8 - -
65-160/1.5 15| 2 9.7 92| 85| 8 | 67| 57| 53 | 49 | 45 -
65-160/2.2 22| 3 11.8 11.3] 106 | 101 | 88 | 76 | 72 | 68 | 64 | 55
65-200/2.2R 22| 3 13 124] 116109 93 | 78 | 73 | 6.8 - -
65-200/2.2 22| 3 14.5 139] 13 | 124 | 108| 93 | 88 | 83 | 7.8 -
65-200/3 3 4 16.3 158 | 15.1 | 14.4 | 129 | 11.6 11.1 10.6 10.1 9 -
65-250/4 4 | 55 18.8 181|176 | 16.1 | 147 | 142 | 137 | 13 | 116 | 9.8 -
65-250/5.5 55 | 7.5 21.8 212|208 196|184 ] 179 | 175 | 17 | 158 | 144 | 128 - -
80-160/1.5 15| 2 73] - - | 68| 63| 59 | 57 | 56 | 54 5 46 | 42 | 34 | 24 -
80-160/2.2R 22| 3 86| - 81| 78| 74| 73 | 71 7 6.7 | 6.4 6 52 | 42 3
80-160/2.2 22| 3 95| - 91 | 88 | 84 | 83 | 82 8 78 | 74 | 71 | 62 | 52 | 41
80-200/3 3 4 12.4] - 12 | 115] 109 107 | 104 | 102 | 97 | 92 | 86 | 73 | 59 | 42 -
80-200/4R 4 | 55 14.8] - 144 | 139|134 | 132 | 129 | 127 [ 122 | 117 | 112 | 101 | 88 | 72 | 56
80-200/4 4 | 55 16.0] - 154 | 149|143 | 141 | 189 | 137 | 132 | 128 | 123 | 111 | 99 | 84 | 67
80-250/5.5R 55 7.5 18.5 - 17.7 17 16.3 16 15.7 15.4 14.6 13.8 12.9 10.7 8.4 -
80-250/5.5 55| 7.5 21.2) - 205|199 | 191 | 189 | 186 | 182 | 176 | 168 | 159 | 138 | 11.7 | 9.3 -
80-250/7.5 75 | 10 245 - 24 | 234 228 225 | 222 | 219 | 213 | 206 | 198 | 18 | 159 | 135 | 108

204

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS

S50Hz

TYPE KEY:

(3] Lo [wm] La] [Hw] [Les|-[a60]/]22] [R]

REDUCED IMPELLER

POWER CODE

0.25

0.37

0.55

0.75

11

IMPELLER CODE

15

2.2

w

5.5

7.5

125

160

DISCHARGE SIZE

200

250

32

40

OPTIONS MECHANICAL SEAL

50

65

80

HS

MOTOR 4 POLES

HW

HSW

MODEL

For versions 32, 40, 50 AlS| 304

65-125/160/200 AISI 316L

For versions 65-250 , 80 AlSI 316

3 SERIES

Rev. |

HP 0.33
HP 0.5
HP 0.75
HP 1
HP 1.5
HP 2
HP 3
HP 4
HP 5.5
HP 7.5
HP 10

(*) No indication

205

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS S50Hz
Rev. |

PERFORMANCE CURVE SPECIFICATIONS
The specifications below qualify the curves shown on the following pages.
Tolerances according to ISO 9906 Annex A
The curves refer to effective speed of asynchronous motors at 50 Hz
Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)
The NPSH curve is an average curve obtained in the same conditions of performance curves.
The continuous curves indicate the recommended working range. The dotted curve is only a guide.
In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.
Symbols explanation:

Q = volume flow rate

H = total head

P, = pump power input (shaft power)

n = pump efficiency

NPSH = net positive suction head required by the pump
MEI = minimum efficiency index
206

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TYPE KEY AND CURVE SPECIFICATIONS S50Hz

Rev. |

The minimun efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point,leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled,for example,by the use of a variable speed drive that matches the pump duty to the system

MEI=0.4 for ESCC 1450rpm MEI=0.7 for ESCC 1450rpm

g///} 7| &)

flow Q [m*h

MEI = 0.4 for ESOB 1450 MEI = 0.7 for ESOB 1450 rpm

S PN

: T T T T T
specific speed ns [rpm] 10 20 30 40

207

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

32-125/0.25 (0.25 kW) MEI > 0.50 — impeller diamete r =133 mm

0 USgpm. 10 15 20 25 30 35 40 45 50
| ] ] ] ] ] | ] ] ] ]
| I I I I | I I I
0 Imp.g.p.m. 10 15 20 25 30 35 40
H — —1g M
[m] [t]
\\
N7
5 2
\\i/a 2 16
\\
N
\\ —14
4 N
¥ 12
\\ NPSH
‘\ [m] [ft] 0
3 N 5 -
15
N
{3110
NPSH _— 24 . [8
1
2
0 50 100 150 Q [I/min]
[ I I I I I ]
0 2 4 6 8 10 Q [m3/h]
046
P2 —
o] —T 125/0.25 |
//
0.08
0 50 100 150 Q [I/min]
70
n
[%] 60 —— —
50 ,// 125/0.25_
'/
40
0 50 100 150 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

208

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

32-160/0.37R (0.37kW) MEI > 0.70 — impeller diamete r =151 mm
32-160/0.37 (0.37kW) MEI > 0.70 — impeller diameter =166 mm

0 US.g.p.m. 10 15 20 25 30 35 40 45 50
| | | | | | | | | | |
[ [ [ [ [ | [ [ [
0 0 Imp.gp.m. 10 15 20 25 30 35 40
H _ ~30 H
[m] T —— - [ft]
T—— A QJ
8 ~~ \7
\\ - 25
——— \\
T—
—~J50, T~
. '37/? N .
6
\
N [m] [ft]
4 ™ 4
12
310
NPSH — ||, 8Ly
E—— 6
1 4
2
2
0 50 100 150 Q [I/min]
[ [ [ [ [ [ 1
0 2 4 6 8 10 Q [m3/h]
0.4 ‘ ‘
P2 160,/0.37 |
0.2 160/0.37R
01 [ |
0 50 100 150 Q [I/min]
70 T T
n 160,/0.37
[ o R
50 /¢,‘ 160/0‘37R—
30
0 50 100 150 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

209

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. |
32-200/0.55R (0.55 kW) MEI > 0.70 — impeller diamet er = 186 mm
32-200/0.55 (0.55kW) MEI > 0.70 — impeller diameter =200 mm
32-200/0.75 (0.55kW) MEI > 0.70 — impeller diameter =224 mm
0 USgpm. 15 20 25 30 35 40 45 50
| | | | | | | | |
(I) Imp.g.p.m.I 1|0 1|5 2|0 2|5 3|0 35 4|0
20
- 60
H I R i H
= 0
[m] \\\O/Oﬁ [ft]
—
15 _-— - 50
\\
\\'
T —— - 40
10 N s e 20
\L/Oiﬁ? ~~_ - 30
\\‘\ \\\e
T~ ~— NPSH
= m [ 20
5 57 4
4
NPSH - 2 10-10
5
1
0 0
0 50 100 150 Q [I/min]
[ I I I I ]
0 4 6 8 10 Q [m¥h]
0.8 —
P2 — 200/0.757]
[kw] 06 I — T
04 2‘00/0‘.55_
200/0.55R
0.2 e
0 50 100 150 Q [I/min]
60 —
n 200/0.75
% ]
4 0 200/0.55_|
=
200/0.55R —7///
20
0 50 100 150 Q [I/min]
Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A
210

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

[(m] &

0.4

[kW] 0.3
0.2

0.1

80
[%] 70
60

30

Rev. |

40-125/0.37R (0.37 kW) MEI > 0.70 — impeller diamet er = 125 mm
40-125/0.37 (0.37 kW) MEI > 0.70 — impeller diamete r =140 mm

0 US.gp.m. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| I I I I | I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
- 22
I . H
\\\ 725 20 [ft]
03,
18
== RN - 16
’\\\\ 2
N0 L 14
\'J)/P \\
N \\ —12
\ ~
\\ NPSH [~10
N\ [m] []
4 -
\\ [ 8
310
\ 8 —6
NPSH 1,
] 6
N
0 100 200 300 Q [1/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m¥h]
.
125/0.37
| b
— 125/0.37R
| |
|
0 100 200 300 Q [1/min]
_— ~__ 125/0.37 |
s | \/ \
125/0.37R
T+
0 100 200 300 Q [1/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

40-160/0.55R (0.55 kW) MEI > 0.40 — impeller diamet er = 151 mm
40-160/0.55 (0.55 kW) MEI > 0.40 — impeller diamete r =166 mm

0 US.gpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
[ [ [ [ [ | [ [ [
0 0 Imp.g.p.m. 20 30 40 50 60 70 80
H —— -3 H
[m] T~ [ft]
T
I~
8 N ]60/0
== -85 25
\160/0 5 ™.
R N
6 \\ \\ 20
~~~ N
N ~N
N NPSH |15
™ | [[m] [ft]
4 .,
310
81 10
NPSH ] - 2
— 4
2
2
0 100 200 300 Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ [ 1
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3/h]
0.5 ‘ ‘
P2 — 160/0.55 1
[kw] ™ "1 ‘ ‘
S 160/0.55R -
0.3 //: S /
'l/
0.2
0 100 200 300 Q [I/min]

70

%] 60 =
. 160/0.55R VA¢
g =
~160/0.55
40 -
0 100 200 300 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

212

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. |
40-200/1.1R (1.1 kW) MEI > 0.70 — impeller diameter =183 mm
40-200/1.1 (1.1 kW) MEI > 0.70 — impeller diameter =200 mm
40-200/1.5 (1.5 kW) MEI > 0.70 — impeller diameter =224 mm
0 USgpm 20 30 40 50 60 70 80 90 100
| | | | | | | | | |
(I) Imp g.p.mI 2I0 3I0 4I0 5IO 60 70 8IO
20
H | —60 H
[m] R 200/1 5 (ft]
—
15 ~ _ 50
\\'
+ T— 200
\\./li - 40
[ 209 T
——
10 —~—® \\\\
‘\
T A o) 1]
\ m
3410
8
NPSH —— |2t
194 20
2
5
0 100 200 300 Q [1/min]
[ I I I I I I I I I I ]
0 4 6 8 10 12 14 16 18 20 22 Q[m3h]
14 —
Py — 200/1.5—
(kW) g ] 200/1.1—
200/1.1R F——
0.2 —
0 100 200 300 Q [I/min]
. 0 ————
(%] 60
50 200/1.14 i
‘ ,7 200/1.5
40 | ]/ w
0 100 200 300 Q [I/min]
Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A
213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

50-125/0.55R (0.55 kW) MEI > 0.40 — impeller diamet er = 131 mm
50-125/0.55 (0.55 kW) MEI > 0.40 — impeller diamete r = 140 mm

0 USgpm. 40 60 80 100 120 140 160 180
| ] ] ] ] ] | ] ] ]
| I I I I [ I I
, 0 Imp.g.p.m. 20 40 60 80 100 120 140
-22
H T T H
\1
m ~__ -2 [y
N s
ey e e e e g \\/0-55 18
T~
5 T~ -
NN 2 | ‘ N 16
N0
s
NG N —14
4
N N - 12
N
3 NPSH 10
N [m] [ft]
4 L
|8
2 ] 310
| 8 —6
NPSH | | | | T 2
- 6
1 o
0 100 200 300 400 500 600 Q [I/min]
| T | | T T | | |
0 5 10 15 20 25 30 35 Q [m3/h]
0.5 ———
S — 125/0.55
P2 s - —T | \/ |
(kW] — 125,/0.55R |
”
0.3 — —
0.2
0 100 200 300 400 500 600 Q [I/min]
80
n
% 70 — ~ [ 125/0.55
60 ~d ]
125/0.55R7
. 1]
0 100 200 300 400 500 600 Q [I/min]
Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A
214

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

50-160/1.1R (1.1 kW) MEI > 0.60 — impeller diameter =154 mm
50-160/1.1 (1.1 kW) MEI > 0.60 — impeller diameter =166 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I I | | I |
102 Impgpm. 40 60 80 100 120 140 160
H T -3 H
T~
[m] L [ft]
L N6,
8 R T~ ‘0<7
~ N 25
\\\ /6 N
60
\\/7. //P \\
6 N 20
\\\ \\=
\\\
N 15
4 \\= NPSH
[m] [#t]
4
g 1
T 31010
NPSH - 8
= ] 2 ¢
5 4
0 100 200 300 400 500 600 700 Q [1/min]
[ I I I I I I I I I
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
[kw] 08 ——— 160/1.1
p— T
[ L
06 — E—— 160/1.1R
04 = L]
0 100 200 300 400 500 600 700 Q [1/min]
80 T ]
n 160/1.1
[%] 70 e } I }
/’ T~ 1160/1.1R
60 2
4/
50
0 100 200 300 400 500 600 700 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

215

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

50-200/1.5R (1.5 kW) MEI > 0.60 — impeller diameter =191 mm
50-200/1.5 (1.5 kW) MEI > 0.60 — impeller diameter =200 mm
50-200/2.2 (2.2 kW) MEI > 0.60 — impeller diameter =224 mm

0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I [ | I |
0 ImP.gpm. 40 60 80 100 120 140 160
H 60 H
[m] T R e 5 (ft]
~ 00
™ \/ 22
T~
15 ~~. 50
~
\
e ~
—— e
—— | \\\
T ~3%;, - 40
\\\\ 2 .
i 0 e
\/ L8R TN
NS NN
10 ~< \\\
i N NPSH | o
~N N ft
N TN [m] [ft]
6+ 20
N Ik
NPSH T 10
2 5 20
5
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
2.2 —
Py i | 200/2.2
[kW] T ]
1.4 ———— 200/1.5
L 200/1.5R
N
0 100 200 300 400 500 600 700 Q [I/min]
80
RN | ]
i ‘20‘0/‘1 5R. —_—
(%] s = 200/1.5—
60 = —
=
-~
200/2.2
40 | | |
0 100 200 300 400 500 600 700 Q [I/min]

Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A

216

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

65-125/0.55 (0.55 kW) MEI > 0.50 — impeller diamete r =128 mm
65-125/0.75 (0.75 kW) MEI > 0.50 — impeller diamete r =138 mm
65-125/1.1 (1.1 kW) MEI > 0.50 — impeller diameter =149 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| I | I I [
50 Impgpm. 50 100 150 200 250
| 25
H ~ H
[m] N [ft]
T T —|— \
6 M~ ~— /25// L 20
T~ N
T T NN
\“\\\ T\\if 15
\\ ‘ N \
4 s N N
™~ NS N —10
N\ h NPSH
N [m] [ft]
2 ‘=,
™N 31015
NPSH — | |,
— — —6
1__ 4
-2
0 0
0 200 400 600 800 1000 Q [I/min]
[ [ [ [ [ [ [ [
0 10 20 30 40 50 60 Q [m3/h]
0.9 T T
Py p——— 125/1.10
[kw] — 1
06 —T 125/0.75
— 1 1
. . = 125/0.55
0 200 400 600 800 1000 Q [I/min]
80
: - —
% NN
[]60 \\\\\\‘ 125/1.10 |
N |
125/0.75—
125/0.55 ||
40 Sy
0 200 400 600 800 1000 Q [I/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

217

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

65-160/1.1 (1.1 kW) MEI > 0.70 — impeller diameter =161 mm
65-160/1.5 (1.5 kW) MEI > 0.70 — impeller diameter =168 mm
65-160/2.2 (2.2 kW) MEI > 0.70 — impeller diameter =178 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I | I | [ |
) 0 Impgpm. 50 100 150 200 250 300
— 1T ] NEE
H TN L35 H
[m] 10 76, [ft]
e =2,
~ \\\ 30
I - N
8 T~ 7
N %, 5 § L 25
20, NG N\
7 ~
6 \/ 7 \\ 00
N NG NPSH
N ™ [m] []
\ N m
. Q gl
h - 12
/ 31010
r/ —8
2 NPSH —— 245
-5
4
-2
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
2 T T
Py 160/2.2 | |
—
o] " 160/1.5
* | S——
—T T 160/1.1
p—
||
0 200 400 600 800 1000 1200 Q [I/min]
80
T] e
(%] d QQ\ 160/1.5
. \\\\g:z\
N 160,/2.2
160/1.1N
60 L
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A

218

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE 50Hz
Rev. |
65-200/2.2R (2.2 kW) MEI > 0.70 — impeller diameter =190 mm
65-200/2.2 (2.2 kW) MEI > 0.70 — impeller diameter =201 mm
65-200/3 (3.0 kW) MEI > 0.70 — impeller diameter = 212 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I | I | I
g 0_mPgpm. 50 100 150 200 250 300
" I -5
[m) ' - [ft]
D - 50
™
14 B e \200/3
< 9 —45
NG
== ~_ ;
e N 40
12 ~L_ N2
N o, N
2R N - 35
10 2PN
~ N~ NPSH
N N [m] [#] |30
N AN ~ 30
8 n ™ 812
N - 25
N 62
NPSH =15
I P20
° ] 1
Lt 9]
5 15
4
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
3
B
P2 =T | 200/3.0—
[kW] T 00/
2 — —— 200/2.2
// ”,___—— !
T 200/2.2R
1 = | | |
0 200 400 600 800 1000 1200 Q [I/min]
80
n = A —
[7] \§<\\
70 \< ~—200/3.0
200/2.2R \\
200/2.2
60 ‘ ‘ ‘ | | I
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A
219

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. |
65-250/4 (4.0 kW) MEI > 0.50 — impeller diameter = 235 mm
65-250/5.5 (5.5 kW) MEI > 0.50 — impeller diameter =250 mm
0 US.gpm. 100 150 200 250 300 350 400
| ] ] ] ] ] | ] ]
| I I | I | I |
0 Imp.gpm. 50 100 150 200 250 300 350
25 50
TR S S ] o H
[m] = 0[]
20 25055
A I~
= | ™~ - 60
\0/10 NG
— - 50
N \\
< NPSH L 49
\\‘ [m] [f]
10 AN 5
15 (- 30
4_
/ 31020
5 NPSH T ,
— —5 10
1_
0 0
0 200 400 600 800 1000 1200 1400 Q [I/min]
[ I I I I I I I I I
0 10 20 30 40 50 60 70 80 90 Q [m3/h]
5
P = =-250/5.5—
kW) — — 250/4.0
| " ”—’
3 — I
9 fpt
0 200 400 600 800 1000 1200 1400 Q [I/min]
80
N —
%] 70 - —
(%] y / N TS
~ N
60 AN 2‘50/5‘5—
250/4.0
50 ,
0 200 400 600 800 1000 1200 1400 Q [I/min]
Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A
220

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. |
80-160/1.5 (1.5 kW) MEI > 0.60 — impeller diameter =156 mm
80-160/2.2R (2.2 kW) MEI > 0.60 — impeller diameter =165 mm
80-160/2.2 (2.2 kW) MEI > 0.60 — impeller diameter =174 mm
0 USgpm. 100 200 300 400 500 600
| ] ] ] ] ] |
0 (I) Imp.g.p.m. 1(|)0 2(|)O 3(I)O 4(|)0 5(|)0
H T B
ml [T =1 ~ . [#t]
8 7
™ 2 - 25
T T —— /6‘0
~N N \
6 ~ N %
RN NN
/15 N\, N\,
N \\ \\ —15
4 \\ \\
N N\,
\\ NPSH [~10
AN [m] [1]
2 160,/2.2R—{ 4
NPSH 1 | I 1 3t+10F>5
e ——————1160/22 | |
-5
1_
0 0
0 500 1000 1500 2000 Q [I/min]
(I) zlo 4'0 elo 8|0 1(')0 12'0 1410 Q [m3/h]
3 .
P2 160,/2.2
[kw] 160/2.2R
1 160/1.5
|
0 ‘
0 500 1000 1500 2000 Q [I/min]
90
n
(7] Ny
70 \‘Qi\\ 160,/2.2
NN
160/1.5] ¥ [N 160/2.2R
50 I ‘ L L
0 500 1000 1500 2000 Q [I/min]
Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A
221

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz

Rev. |

80-200/3 (3.0 kW) MEI > 0.40 — impeller diameter = 196 mm
80-200/4R (4.0 kW) MEI > 0.40 — impeller diameter = 211 mm
80-200/4 (4.0 kW) MEI > 0.40 — impeller diameter = 219 mm

0 USgpm. 100 200 300 400 500 600
| ] ] ] ] ] |
| | I I I |
) 0 ImPgpm. 100 200 300 400 500
- 60
H H
[m] [ft]
15 ____.—‘.ﬁ--\“\‘ 50
T T T — \\\ 2
\\‘ %
. ~<0
e ——t \Q\\ - 40
™~.<0 N
10 ~300
\\/{\ \\\\ - 30
\\\
\\ \\\\'
AN N NPSH =20
5 [m] [#]
NPSH :
{3
21s
1
0 0
0 500 1000 1500 2000 Q [1/min]
[ I I I I | | I
0 20 40 60 80 100 120 140 Q [m¥h]
4 —
P, o —— 200/4 —
k] ° | 200/4R ]
2 — — 200/3
| |
! ||
0 500 1000 1500 2000 Q [1/min]
90
n
[%] \\\ N
70 \\ \\ 200/4
N
- 200/3 200/4R
0 500 1000 1500 2000 Q [1/min]

Rotation speed = 1400 min™
Test standard: ISO 9906 — Annex A

222

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

PERFORMANCE CURVE S50Hz
Rev. |
80-250/5.5R (5.5 kW) MEI > 0.60 — impeller diameter =230 mm
80-250/5.5 (5.5 kW) MEI > 0.60 — impeller diameter =246 mm
80-250/7.5 (7.5 kW) MEI > 0.60 — impeller diameter =263 mm
0 USgpm. 100 200 300 400 500 600
| | | | | | |
0 Imp.g.p.m. 100 200 300 400 500
o s e N - 80
T—
m + 253/\7'5 g
2 -~ — N
N
R A A N \\250 60
s
N
90 N\ - 50
15 \<5;5/P . AN
\ \ \\
N\ AN 40
NG N\ AN
10 N AN
N 30
™ NPSH
[m] [ft]
341020
5
NPSH - 2
5 10
1
0 0
0 500 1000 1500 2000 Q [I/min]
cl) I : 6|0 3'0 1<|>o 12'0 1)%0 Q [m3/h]
8 T T
P2 L — 250/7.5
[kw] © —— 250/5.5
4 —_— 250/5.5R
pum— |
2 ‘
0 500 1000 1500 2000 Q [I/min]
90
n
(7] — . —
o — — ~_| £0/5.5
NN 250775
250/5.5R ™\ |
50 —
0 500 1000 1500 2000 Q [1/min]
Rotation speed = 1400 min™
Test standard: 1ISO 9906 — Annex A
223

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3(.)M4 32, 40, 50, 65-125/16 0/200

1 4 20 /2 26 6 1/ 388 6 12 21

14
T T
-1 —— 93
o 0
‘ 19
25 200 11 3 23518 92 19 22 42 20 13
300

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

S50Hz

Rev. |
SECTIONAL VIEW TABLE 3(.)M4 32, 40, 50, 65-125/160/ 200
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
3M4 3LM4
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket [5] 1
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 | Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 | Impelier 32, 40,50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
011 |Mechanical seal [3] Carbon/Ceramic/NBR \ SiC/SiC/FPM See p. 321+325 1
012 | Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan | PA 1
015 |Fan cover Fe P04 Galvanized 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase version) 1
018 |Splash ring | NBR \ / 40x21.5x3 EBARA DRAWING | 1
019 |Bearing - See table p.319 1
020 |Bearing - See table p.319 1
021 |Adjusting ring Steel C70 1
022 | Tie rod Fe 42 Galvanized M5 EBARA DRAWING 4
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-160 NBR [4] EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160,
50-200, 65-160. 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6x6Xx25 UNI 6604
034 Impeller nut [2ier models EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) M16x1.5 UNI 7474 1
50-200/2.2 M18x1.5
042 | Foot Aluminium / Galvanized steel EBARA DRAWING 1
056 | Box gasket NBR 1
058 | Fasting nut - 1
072 |Casing ring (not for 65 version) [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
. Up to 1.5kwW 25x40x7 DIN 3760
092|Lipseal 1 T JkW to 3kW ; ) 30x47X7 without spring !
For 0.25kwW 15x30x5
093 | Lip seal For 0.37kW and 0.55kW - - 17x32X7 DIN 3760 1
without spring
From 0.75 kW to 3kW 25x40x7
32-125, 40-125 M 8x30 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1 UNI 5739
50-200, 65-125, 65-160, 65-200 M10x35 2]
32-125, 40-125 8.4x17 8
235 |Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) UNI 6592
50-200, 65-125, 65-160, 65-200 10.5x21 2]

Counterflange kit on request, see table p. 328-329

[1] For version 32-200, 40-200, 50-160 , 50-200

[2] Quantity = 10 for 32-160, 40-160, 50-125, 65-125
Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Special version: see page 321 and following

[4] FPM (H-HS-HW-HSW version)
EPDM (E version)

[5] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others

301

B Eaana

EBARA PUMPS EUROPE S.p.A.




3 SERIES 4 Poles

CENTRIFUGAL PUMPS

S50Hz

CONSTRUCTION

Re

£6

SECTIONAL VIEW DRAWING 3LM4 80-160

LL ¥C SL

Gl ¥l

I¢ 0C ¢C¢ ¥ 10¢

6l ¢C6

v

V002

00¢ G¢¢ 8L 9L GC

b

L

L=
8

U

gL a9 S

i

LL 91 96 & 9C ¥ Il ¢¢ v¢ L |

\

\

302

EBARA PUMPS EUROPE S.p.A.

B Eaana



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

CONSTRUCTION S50Hz
Rev. |
SECTIONAL VIEW TABLE 3LM4 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [1] SiC/SiC/FPM See p. 321+325 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Galvanized 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
019 |Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Tie rod Fe 42 Galvanized 4
024 |Plug EN 1.4404 (AIS] 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AIS] 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 6X6x25 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
075 |Washer (plug) 1
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM (2] 1
. 1.5 kW 25x40x7
092 ILip seal 22 KW ; 30x47X7 DIN 3760 !
- without spring
093 |Lip seal - 25x40x7 1
200 |Screw . M 10x35 10
200A |Screw Stainless steel A2-70 class ISO 3506/1 M 10x30 UNI 5739 2
1.5 kW . M 6x40 1

201 |Screw 52 kW Stainless steel A2-70 class ISO 3506/1 M 12x40 UNI 5739 7
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request, see p. 328-329

[1] Special version: see page 321 and following

[2] EPDM (E version)

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3LM4 65-250, 80-200/250

75 24 77

M
(2]
0 ‘ S
bt &
= (=]
e N
N L
- =
CD\_ 7 g
-—
\O
I N
-—
| -
[+ o] =
0 3 ‘ q
(2]
| -
N
/m
[Ze] > N
-— n
| M
© o~
0 ©
-—
Lp]
——3
< ‘ N
*
© [— H e ]
: i .
- I e
-— \I.D
- ~N
- =
~
*
Lp]

304

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
SECTIONAL VIEW TABLE 3LM4 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 | Casing cover EN 1.4401 (AISI 316) 1
004A Screw for casing cover EN 1.4301 (AISI 304) 2
006 | Shaft with rotor EN 1.4404(AlSI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [2] SiC/SiC/FPM See p. 321+325 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015|Fan cover Fe P04 Galvanized 1
016 | Terminal - 1
017 | Terminal box cover Aluminium 1
018 |Splash ring NBR 50x29.5x3 EPE DRAWING| 1
019 |Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Tie rod | Fe 42 Galvanized 4
024 |Plug EN 1.4404 (AIS| 316L) G 3/8 EPE DRAWING| 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING| 1
026 |"0" ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
034 |Impeller nut Aluminium M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING | 1
056 |Box gasket NBR 1
058 |Fasting nut - 1
075 |Washer (plug) 1
076|Washer (plug) EN 1.4404 (AISI 316L) 1
077 |O-ring (plug) 1
078|0-ring (plug) FPM (3] 1
. 3-4kw 30x47x7 DIN 3760
092 Lip seal 5.5 kW ) 40x55x7 without spring L
3 kw 25x40x7
093 |Lip seal|4 kw - 30x47x7 .DIN 376(.) 1
without spring
5.5 kW 40x55x7
101 [Snap ring (only 5.5 kW) Carbon tool steels TC 80 @ 40 UNI 7435 1
200 |Screw Stainless steel A2-70 class 1SO 3506/1 M 12x45 UNI 5739 10
for 80-200/4 kW M 6x12
201 |Screw |for 80-200/3 kW Stainless steel A2-70 class 1SO 3506/1 M 6x45 UNI 5739 1
for the other versions M 6x60
220 | Nut for tie rod (only 5.5 kW) Galvanized steel M8 4
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin [1] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 328-329
[1] Not for H, HW, HSW and E options
[2] Special version: see page 321 and following
[3] EPDM (E version)
305

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3(.)S4 32, 40, 50, 65-125/16 0/200

H_Ta1 H
- — | |-
. | I
ﬂ:f\___ | I | — <
;m 1 :J l
N\ | B
S N BIR
@
% AV ]
° \:L/ \ |
a\m;z ) 1 ( m;z
: | [ =M I
N =9 113 -

306

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

S50Hz

Rev. |
SECTIONAL VIEW TABLE 3(.)S4 32, 40, 50, 65-125/160/ 200
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
354 3LS4
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AlISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 326 1
007 |Impeller 32, 40,50 EN 1.4301 (AISI 304) EN 1.4404 (AlISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
011 |Mechanical seal [4] Carbon/Ceramic/NBR | SiC/SiC/FPM See p. 321+325 1
012 | Motor _ 1
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
Zgjgg' 40-160, 50-125, 183.52x5.34 OR 6720
026 |"O" ring NBR [5] FPM 1
32-200, 40-200, 50-160,
50-200, 65-160, 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AISI 316) 6X6x25 UNI 6604 1
034 |Impeller nut [ 2ther model EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
50-200/2.2 M18x1.5
042 | Foot Galvanized steel [1]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 2
072 |Casing ring (not for 65 version) [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AlISI 316L) 1
32-125, 40-125 M 8x30 UNI 5739 8
40-160, 40-200, 50-125,
200 | Screw 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, M 10x35 UNI'5739 Bl
65-200
up to 0.37kW M 8x20
206 |Screw from 0.55 to 1.5kW Gv. Steel 8.8 strenght class ISO 898/1 M 10x25 UNI 5739 4
for 2.2 and 3kW M 12x30

Counterflange kit on request see p. 328-329

[1] Quantity =1 up to 1.5kW
Quantity = 2 for 2.2 and 3kW
[2] Only for version 32-200, 40-200, 50-160, 50-200
[3] Quantity = 10 for 32-160, 40-160, 50-125, 65-125
Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[4] Special version: see page 321 and following
[5] FPM (H-HS-HW-HSW version)
EPDM (E version)

307

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3LS4 80-160

75 24 77

44
42

7\
18 iz =i
| 7 ©
‘ i ‘
— R ‘ - u/ 8 g
=4l (S 1 N
St | L 9
& i ESN i \ r 1 N
2\ E_ g
Aﬂliy — O~
9 .,i. ’
- [
7T N
SEEE,

-
25 76 78

308

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
SECTIONAL VIEW TABLE 3LS4 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 326 1
007 |{Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [1] SiC/SiC/FPM See p. 321+325 1
012 |[Motor - 1
024 |Plug | EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
p— FPM
026 ["O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 6x6Xx25 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Foot Galvanized steel EPE DRAWING 1
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 [Washer (plug) 1
EN 1.4404 (AISI 316L
076 [Washer (plug) ( ) 1
077 |O-ring (plug) 1
FPM [2

078 |O-ring (plug) [2] 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request, see table p. 328-329

[1] Special version: see page 321 and following

[2] EPDM (E version)

309

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3LS4 65-250, 80-200/250

75 24 77

|
|
|
| | a o
i H=
L it ] ?g
o [ L
3 } |
] ! \
A !
AT =
T °°
" qp & | p ,,
Q] E i S
. il
3 \ r ‘ g
: . N
1. _— — —— | N
*l-—/ » 7/_&
‘ <

34

310

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
SECTIONAL VIEW TABLE 3LS4 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A|Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI 316) 1
004A | Screw for casing cover EN 1.4301(AlSI 304) 2
006 |Coupling | | EN 1.4404 (AIS| 316L) See table p. 326 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal [3] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
024 |Plug | | EN 1.4404 (AISI 316L) G3/8 EPE DRAWING| 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
o~ FPM
026 |"O"ring EPDM (E version) 253.36x5.34 OR 6995 1
032 |Key EN 1.4401 (AIS| 316) 8x7x30 UNI 6604 1
034 'nrzfe"er EN 1.4404 (AIS| 316L) M20x1.5 UNI 7474 1
042 |Foot for motor Galvanized steel EPE DRAWING| 1
075 |Washer (plug)
EN 1.4404 (AISI 316L 1
076 |Washer (plug) ( )
077 |O-ring (plug) 1
FPM [4
078 |O-ring (plug) 4 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin [2] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 328-329
[1] Only for 65-250/5.5 kW
[2] Not for H, HW, HSW and E options
[3] Special version: see page 321 and following
[4] EPDM (E version)
311

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. |
SECTIONAL VIEW DRAWING 3(.)P4 32, 40, 50, 65-125/16 0/200
i
|
L — i NN
s:'/ ‘ =1
© i
11z e
=
: T F
3 — T .
< : i @
o\< B /B
A— | S
|
o | 'g;;g' i
| Ny [ ﬁ\
| <
] |
° |
® | o
* L i s
N /,/”
2 [o] lIIC - | -
‘ : /-/.:
i 11— 8
312

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |
SECTIONAL VIEW TABLE 3(.)P4 32, 40, 50, 65-125/160/ 200
N° PART NAME MATERIAL DIMENSIONS | STANDARD | Q.TY
3P4 | 3LP4
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 | Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) 1
006 | Shaft - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
026 Flexible coupling Cast iron EN-GJL-250-EN 1561 See tgg': pag. 1
007 |Impeller 32-40-50 EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
P 65-125/160/200 EN 1.4401 (AlSI 316)
011 [Mechanical seal [3] Carbon/Ceramic/NBR | SiC/SiC/IFPM See p. 321+325 1
012 | Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
025 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 2;»;28 28»;28 gg»iég 65-125 NBR [4] FPM 183.52x5.34 OR 6720 1
50-200, 65-160, 65-200 227.96x5.34 OR 6895
032 |Key EN 1.4401 (AlISI 316) 6X6x25 UNI 6604 1
033 |Key C 40 8x7x40 UNI 6604 1
034 |Impeller nut [Other model EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 UNI7474 | 1
|50-200/2.2 M18x1.5
. EBARA
042 |Pump support Galvanized steel DRAWING 1
012 Base Galvanized steel 1
044 | Protection Galvanized steel 1
050 |Foot Galvanized steel 1
058 | Fasting nut _ 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring (not for 65 version) [1] EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
073 | Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
089 |Snap ring |32-125, 32-160, 40-125, 50-125 Carbon tool steel TC 80 230 UNI7435 | 1
|Other model 240
092 ["V" ring - VS - 0030 1
093 ["V" ring - VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class 1SO 3506/1
50-200, 65-125, 65-160, 65200 M 10x35 UNIS7TS9 | 2]

Counterflange kit on request see p. 328-329

[1] For version: 32-200, 40-200, 50-160, 50-200
[2] Quantity = 10 for 32-160, 40-160, 50-125, 65-125
Quantity = 12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[3] Special version: see page 321 and following
[4] FPM (H-HS-HW-HSW version)
EPDM (E version)

313

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev.

SECTIONAL VIEW DRAWING 3LP4 80-160

7% 24 77

==}

3 6 20 67 93

1"

200
200A

66 92 89 19

235

NNNNNN

314

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250

|
(2]
n_\
3 ﬂ
; <
~ ;s
© \
o | |
N [ |
;
© 1
- | )
2 | %
8 | =
o~ | 1
> o |9
|
i \
< ;
© <
N
, 2
iy
AT
- [{=]
ST~ YTRRR

315

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

SECTIONAL VIEW DRAWING 3LP4 65-250, 80-200/250

(=]
T

f/ﬁ

e |

LI
T _IT T

12
r@ﬁ
[CXe]
‘ ||' i
=
]
T
|

44

\

i g
@E%ﬂ 0
3

\J ‘
- T

== |

IV

- N Hh

316

g E3ARA EBARA PUMPS EUROPE S.p.A.



3 SERIES 4 Poles

CENTRIFUGAL PUMPS

CONSTRUCTION S50Hz
Rev. |
SECTIONAL VIEW TABLE 3LP4 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD | Q.TY
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 |Shaft 1
EN 1.4404 (AISI316L)-Part in contact with liquid
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [2] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
o~ FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 6X6x25 UNI 6604 1
033 |Key C 40 8x7x40 1
034 |Impeller nut EN 1.4404 (AISI 316L) M16x1.5 UNI 7474 1
042 |Pump support Galvanized steel EPE DRAWING| 1
042A |Base Galvanized steel EPE DRAWING| 1
044 |Protection Galvanized steel EPE DRAWING| 1
050 |Foot Galvanized steel EPE DRAWING | 2
050C | Spacer for protection [1] Aluminium 2
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
EN 1.4404 (AISI 316L

076 |Washer (plug) ( ) 1
o077 O—r?ng (plug) FPM (3] 1
078 |O-ring (plug) 1
089 |Snap ring Carbon tool steels TC 80 @ 40 UNI 7435 1
092 |V r?ng i VS-0030 1
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class 1SO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301 (AISI 304) 10.5 UNI 6592 12

Counterflange kit on request see p 328-329

[1] Only for 1.5kW

[2] Special version: see page 321 and following

[3] EPDM (E version)

See p 314-316

317

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION

S50Hz

SECTIONAL VIEW TABLE 3LP4 65-250, 80-200/250

Rev. |

N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A | Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel)-Part in 1
contact with liquid
006A | Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal [3] SiC/SiC/FPM See p. 321+325 1
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
o~ FPM

026 ["O"ring EPDM (E version) 253.36x5.34 OR 6995 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 |Key C 40 10x8x60 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Pump support Galvanized steel 1
042A |Base Galvanized steel 1
044 |Protection Galvanized steel 1
050 |Foot Galvanized steel EPE DRAWING 1
050C |Spacer for protection [1] Aluminium 2
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) 1
076 |Washer (plug) EN 1.4404 (AISI 316L) 1
077 O-rfng (plug) FPM [4] 1
078 |O-ring (plug) 1
089 [Snapring Carbon tool steels TC 80 @ 50 UNI 7435 1
092 |'V" r!ng - VS-0040 1
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [2] EN 1.4301 (AISI 304) 4x12 UNI 6873 1

Counterflange kit on request see p 328-329

[1] Only for 65-250/3-4 kW

[2] Not for H, HW, HSW and E options

[3] Special version: see page 321 and following

[4] EPDM (E version)

See p.315-316

318

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
BEARINGS 3(.)M4, 3(.)S4
Ball bearing Ball bearing
Pu Pu
mp type Pump side Fan side mp type Pump side Fan side
3()M4 32-125/0.25 6202-2RSH 3(.)S4 32-125/0.25
3(.)M4 32-160/0.37R 3(.)S4 32-160/0.37R 6203-2Z 6203-2Z
3()M4 32-160/0.37 6205-2RSH C3 6203-2RSH 3(.)S4 32-160/0.37
3(.)M4 32-200/0.55R 3(.)S4 32-200/0.55R
3(.)M4 32-200/0.55 3(.)S4 32-200/0.55 6204-27 C3 6204-2Z C3
3(.)M4 32-200/0.75 6205-2RSH C3 3(.)S4 32-200/0.75
3(.)M4 40-125/0.37R 6202-2RSH 3(.)S4 40-125/0.37R 6203-27 6203-27
3(.)M4 40-125/0.37 3(.)S4 40-125/0.37
3(.)M4 40-160/0.55R 6203-2RSH 3(.)S4 40-160/0.55R 6204-27 C3 6204-27 C3
3(.)M4 40-160/0.55 6205-2RSH C3 3(.)S4 40-160/0.55
3(.)M4 40-200/1.1R 3(.)S4 40-200/1.1R
3(.)M4 40-200/1.1 6205-2RSH C3 3(.)S4 40-200/1.1 6205-2Z C3 6205-2Z C3
3(.)M4 40-200/1.5 3(.)S4 40-200/1.5
3(.)M4 50-125/0.55R 6203-2RSH 3(.)S4 50-125/0.55R 6204-27 C3 6204-27 C3
3(.)M4 50-125/0.55 3(.)S4 50-125/0.55
3(.)M4 50-160/1.1R 3(.)S4 50-160/1.1R
3(.)M4 50-160/1.1 6205-2RSH C3 3(.)S4 50-160/1.1 6205-27 C3 6205-27 C3
3(.)M4 50-200/1.5R 6205-2RSH C3 3(.)S4 50-200/1.5R
3(.)M4 50-200/1.5 3(.)S4 50-200/1.5
3(.)M4 50-200/2.2 3(.)S4 50-200/2.2 6206-2Z C3 6206-2Z C3
3(.)M4 65-125/0.55 6203-2RSH 3(.)S4 65-125/0.55 6204-27 C3 6204-27 C3
3(.)M4 65-125/0.75 3(.)S4 65-125/0.75
3()M4 65-125/1.1 6205-2RSH C3 3(.)S4 65-125/1.1
3()M4 65-160/1.1 3(.)S4 65-160/1.1 6205-2Z C3 6205-2Z C3
3()M4 65-160/1.5 6205-2RSH C3 3(.)S4 65-160/1.5
3(.)M4 65-160/2.2 3(.)S4 65-160/2.2
3()M4 65-200/2.2R 3606-2RS1 C3 3(.)S4 65-200/2.2R 6206-27 C3 6206-27 C3
3(.)M4 65-200/2.2 3(.)S4 65-200/2.2
3(.)M4 65-200/3.0 3(.)S4 65-200/3.0
3LM4  65-250/4 6306-2RS1 C3 | 6206-2RS1 C3 3LS4 65-250/4 6306-2Z C3 6306-2Z C3
3LM4  65-250/5.5 6308-2RS1 C3 | 6208-2RS1 C3 3LS4 65-250/5.5 6208-2Z C3 6208-2Z C3
3LM4 80-160/1.5 6205-2RS1 C3 3LS4 80-160/1.5 6205-2Z C3 6205-2Z C3
3LM4 80-160/2.2R 6205-2RS1 C3 3LS4 80-160/2.2R
3LM4 80-160/2.2 6206-2RS1 C3 3LS4 80-160/2.2 6206-2Z C3 6206-2Z C3
3LM4 80-200/ 3 3LS4 80-200/3
3LM4 80-200/4R 3LS4 80-200/4R
6306-2RS1 C3 | 6206-2RS1 C3 6306-2Z C3 6306-2Z C3
3LM4  80-200/4 3LS4 80-200/4
3LM4 80-250/5.5R 3LS4 80-250/5.5R
6308-2RS1 C3 | 6208-2RS1 C3
3LM4 80-250/5.5 3LS4 80-250/5.5 6208-2Z C3 6208-2Z C3
3LS4 80-250/7.5
319

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. |
BEARINGS 3(.)P4
Ball bearing
Pump type Pump Motor
Pump side Motor side Pump side Fan side
3(.)P4 32-125/0.25
3(.)P4 32-160/0.37R |6306-2RS1 C3|6206-2RS1 C3| 6203-2Z 6203-2Z
3(.)P4 32-160/0.37
3(.)P4 32-200/0.55R
3(.)P4 32-200/0.55 |6308-2RS1 C3|6306-2RS1 C3| 6204-2Z C3 | 6204-2Z C3
3(.)P4 32-200/0.75
3(.)P4 40-125/0.37R
38P4 40-125/0.37 62032z | 620322
3P4 40-160/0.65R 6306-2RS1 C3 | 6206-2RS1 C3
6204-2Z C3 | 6204-2Z C3
3(.)P4 40-160/0.55
3(.)P4 40-200/1.1R
3(.)P4 40-200/1.1 6308-2RS1 C3|6306-2RS1 C3| 6205-2Z C3 | 6205-2Z C3
3(.)P4 40-200/1.5
3()P4 50-125/0.55R | 6506 ors1 c3|6206-2RS1 €3 | 6204-22 €3 | 6204-27 3
3(.)P4 50-125/0.55
3(.)P4 50-160/1.1R
3(.)P4 50-160/1.1
3()P4 50-200/1.5R |6308-2RS1 C3|6306-2RS1 C3 6205-22 C3 6205-22 C3
3(.)P4 50-200/1.5
3(.)P4 50-200/2.2 6206-2Z C3 | 6206-2Z C3
3(.)P4 65-125/0.55
3()P4 65-125/0.75 |6306-2RS1 C3|6206-2RS1 C3 6204-22 C3 6204-22 C3
3(.)P4 65-125/1.1
3()P4 65-160/1.1 6205-2Z C3 | 6205-2Z C3
3(.)P4 65-160/1.5
28;‘ 22:;28;;:; 6308-2RS1 C3 | 6306-2RS1 C3
6206-2Z C3 | 6206-2Z C3
3(.)P4 65-200/2.2
3(.)P4 65-200/3
3LP4 65-250/4 6306-2Z C3 | 6306-2Z C3
6310-2RS1 C3 | 6308-2RS1 C3
3LP4 65-250/5.5 6208-2Z C3 | 6208-2Z C3
3LP4 80-160/1.5 6205-2Z C3| 6205-2Z C3
3LP4 80-160/2.2R  |6308-2RS1 C3|6308-2RS1 C3
3LP4 80-160/2.2 6206-2Z C3 | 6206-2Z C3
3LP4 80-200/3
3LP4 80-200/4R
6306-2Z C3 | 6306-2Z C3
3LP4 80-200/4
6310-2RS1 C3 | 6308-2RS1 C3
3LP4 80-250/5.5R
3LP4 80-250/5.5 6208-2Z C3 | 6208-2Z C3
3LP4 80-250/7.5
320

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
MECHANICAL SEAL (standard, H and E version)
L
L1 L2
‘F\
o
S
™ 4 3 2 1 3
'é o~ L - - - - - - - % %
s s s
Dimensions Material
Version Pump type L 2 3 4
PP di | d2 | d3|d4|d5| L | 11| L2 | stationary| Rotary Frame
. . Rubber -
sealring | sealring + spring
32-125/160/200
40-125/160/200 . EN 1.4401
Standard 22| 19| 38| 31| 37 |375/275| 10 Carb C NBR
AarAY 55.125/160/200 aroon ) Leramic (AISI 316)
65-125/160/200
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38| 31| 37 |37.5/275| 10 EN 1.4401
H 65-125/160/200 Carbon | Ceramic FPM (AISI.316)
80-160
65-250
80-200/250 30| 24| 46 | 39 | 45 |425|325| 10
32-125/160/200
40-125/160/200
50-125/160/200 22 | 19| 38| 31| 37 |37.5/275| 10 EN 1.4401
E 65-125/160/200 Carbon SiC EPDM (AISI. 316)
80-160
65-250
80-200/250 30| 24| 46 | 39 | 45 |425|325| 10
321

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
MECHANICAL SEAL (L version g22)
4 3
)OO
]
N ™~
~N 1 N
= S8
| og 1 N
U »,
37.9
Material
Pump type 1 2 3 4
Stationary | Rotary Rubber Frame
seal ring | sealring + spring

32-125/160/200

40-125/160/200

50-125/160/200 SiC SiC FPM (ill\IS|1.341567Tli)

65-125/160/200

80-160

322

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

MECHANICAL SEAL (L version g30)

L1 L2

#d3

@d1

pd2

4444444\447444444

|

!

|

|

|

|

|

|

|
.

¢d4
#d5

Dimensions Material
b 1 2 3 4
ump type
di | d2 | d3 | a4 | d5 | L | L1} L2 | stationary | Rotary | gupber Frame
seal ring seal ring + spring
65-250 . . EN 1.4571
80-200/250 30 24 44 39 45 | 425 | 31 | 115 SiC SiC FPM (AISI 316Ti)

323

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION S50Hz
Rev. |
MECHANICAL SEAL (HS version)
S 4 2 3
...... O [
ST
A
N ~
o~ - - - M
ASS =
!
!
. 28.5 9
B 37.5 |
Material
1 2 3 4
Pump type
Stationary Rotary Rubber Frame
seal ring seal ring + spring
32-125/160/200
40-125/160/200 : . EN 1.4571
50-125/160/200 Sic Sic FPM (AISI 316Ti)
65-125/160/200
324

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

MECHANICAL SEAL (HW and HSW version)

(*f\
I ‘m [ \ ‘
o | ;, \
S \ | ‘
Y I
- i 4 5 2 1 3 | o
O O O
ASY ASS n b b b b b b b ’4’“ ~ ASY
o
i | ASY
|
o000 U » ZN
U U
7
Dimensions Material
Version Pump type 1 2 3 4
dl d2 d3 d4 ds L L1 L2 Stationary Rotary Rubb Frame
seal ring seal ring ubber + spring
32-125/160/200
40-125/160/200
HW Zgiggﬁggggg 22 19 38 31 87 | 37.5] 215 10 Tungsten Tungsten FPM EN 1.4401
80-160 Carbide Carbide (AISI 316)
65-250
80-200/250 30 24 46 39 45 | 425| 325 | 10
32-125/160/200
40-125/160/200
50-125/160/200 22 19 38 31 37 | 375(275| 10
HSW | 65-125/160/200 Tcugisl;i” sic FPM E::;'g‘igl
80-160 ( )
65-250
80-200/250 30 24 46 39 45 | 425| 325| 10

325

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

COUPLING 3(.)S4

L
Set screw UNI EN ISO 4029 \
_ o S } I| m m
, ! L1 \
< = e ——— —+ 9=
Motor Dimensions mm
Pump type kWl | HPT | g6 d di | d2 | d3 M L L1 b h Set screw
32-125/0.25 0.25 0.33 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-200/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-125/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-125/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-160/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-160/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/1.1R 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-160/1.1R 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-160/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5R 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/2.2 2.2 3 100 22 22 28 43 M18x1.5 153 63 8 31.3 M8x8
65-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/3 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-250/4 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
65-250/5.5 5.5 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-160/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-200/3 3 4 100 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4R 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4 4 5.5 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-250/5.5R 5.5 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/5.5 5.5 7.5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/7.5 7.5 10 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
326

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

FLEXIBLE COUPLING 3(.)P4

b1 3 % b2

i |

151 /\J@ s @j

e — =/ N

h1
h2

d2

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Motor Dimensions mm

Pump type kWl | HPT | e d1 bl h1 d2 b2 h2
32-125/0.25 0.25 0.33 71 24 8 27.3 14 5 16.3
32-160/0.37R 0.37 0.5 71 24 8 27.3 14 5 16.3
32-160/0.37 0.37 0.5 71 24 8 27.3 14 5 16.3
32-200/0.55R 0.55 0.75 80 24 8 27.3 19 6 21.8
32-200/0.55 0.55 0.75 80 24 8 27.3 19 6 21.8
32-200/0.75 0.75 1 80 24 8 27.3 19 6 21.8
40-125/0.37R 0.37 0.5 71 24 8 27.3 14 5 16.3
40-125/0.37 0.37 0.5 71 24 8 27.3 14 5 16.3
40-160/0.55R 0.55 0.75 80 24 8 27.3 19 6 21.8
40-160/0.55 0.55 0.75 80 24 8 27.3 19 6 21.8
40-200/1.1R 1.1 1.5 90 24 8 27.3 24 8 27.3
40-200/1.1 1.1 1.5 90 24 8 27.3 24 8 27.3
40-200/1.5 1.5 2 90 24 8 27.3 24 8 27.3
50-125/0.55R 0.55 0.75 80 24 8 27.3 19 6 21.8
50-125/0.55 0.55 0.75 80 24 8 27.3 19 6 21.8
50-160/1.1R 1.1 1.5 90 24 8 27.3 24 8 27.3
50-160/1.1 1.1 1.5 90 24 8 27.3 24 8 27.3
50-200/1.5R 1.5 2 90 24 8 27.3 24 8 27.3
50-200/1.5 1.5 2 90 24 8 27.3 24 8 27.3
50-200/2.2 2.2 3 100 24 8 27.3 28 8 31.3
65-125/0.55 0.55 0.75 80 24 8 27.3 19 6 21.8
65-125/0.75 0.75 1 80 24 8 27.3 19 6 21.8
65-125/1.1 1.1 1.5 90 24 8 27.3 24 8 27.3
65-160/1.1 1.1 1.5 90 24 8 27.3 24 8 27.3
65-160/1.5 1.5 2 90 24 8 27.3 24 8 27.3
65-160/2.2 2.2 3 100 24 8 27.3 28 8 31.3
65-200/2.2R 2.2 3 100 24 8 27.3 28 8 31.3
65-200/2.2 2.2 3 100 24 8 27.3 28 8 31.3
65-200/3 3 4 100 24 8 27.3 28 8 31.3
65-250/4 4 5.5 112 32 10 35.3 28 8 31.3
65-250/5.5 55 7.5 132 32 10 35.3 38 10 41.3
80-160/1.5 1.5 2 90 24 8 27.3 24 8 27.3
80-160/2.2R 2.2 3 100 24 8 27.3 28 8 31.3
80-160/2.2 2.2 3 100 24 8 27.3 28 8 31.3
80-200/3 3 4 100 32 10 35.3 28 8 31.3
80-200/4R 4 5.5 112 32 10 35.3 28 8 31.3
80-200/4 4 55 112 32 10 35.3 28 8 31.3
80-250/5.5R 55 7.5 132 32 10 35.3 38 10 41.3
80-250/5.5 55 7.5 132 32 10 35.3 38 10 41.3
80-250/7.5 7.5 10 132 32 10 35.3 38 10 41.3

327

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

CONSTRUCTION 50Hz
Rev. |
FITTINGS
COUNTERFLANGE ZINCKED STEEL
F
E ‘
| — |
— [ |\_/-'|_I ‘
=R I | —
i o
L
SN N° Holes 218
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 140 15 11.5 67 50 4
40 | G11/2 110 150 175 115 72 58 4 ML6X55
50 | G2 125 | 165 | 19 15 89 70 4 X Gv. Steel 8.8
strenght class
65 | G21/2| 145 | 185 | 23 14 | 104 | 88 4 1SO 898-1
80 G3 160 200 24 16 1175 100 8 ML6x60
100 G4 180 220 29 16 144 125 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
E
D
SN N° Holes 18 |
T
-
: L)
O
L d
F
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL
32 | G11/4 100 140 29.5 14 66 44
40 | G11/2 110 150 29.5 14 71 50.5
4 M16x55 A2-70 class
50 G2 125 165 34 16 83 63 1SO 3506-1
65 | G21/2 145 185 40 16 103 80
80 G3 160 200 42 18 122 92 8 M16x60

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

CONSTRUCTION S50Hz

Rev. |

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

‘ E
. D
SN _N° Holes @18 ‘
|
’\ - |
T | - | |
% | | |
: T
d | L |
F
Counterflange Screw
DN D E F H H1 L SN | DIMENSIONS | MATERIAL
10 | G4 | 180 | 220 | 35 | 20 | 150 | 8 ML6x70 A2-70 class
1SO 3506-1
GASKET
DN M M1
2 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

Thickness 2

Material : EPDM for standard version
FPM for L version

329

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

S50Hz

PUMP 3(.)M4 32, 40, 50, 65-125/160/200

Rev. |

B
D2
P2
DN2 A
3
V2
T j [ 7-418
_ = ~
f pu
—
—| = B
] —1 JT =
N
R C
W ,
S M olx N2
0=
‘ |
| / 4-918
]
Fig. 2
25 w ‘
M
Dimensions (mm) Weight
Pump type [%) [%) %] (%] z [%) (%] [%) %] [kg%]
DN1| P1 | K1 | D1 |S1|[1]|[2)|DN2| P2 | K2 | D2 [S2|Fig.| H | H1 | H2 | H3 | R | W | M | NL | N2 | A | B c V2
32-125/0.25 50 95 | 125 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 | 252 | 112 | 140 | 102 | 80 | 70 | 114 | 140 | 190 | 213 | 371 205 PG 11 15
32-160/0.37R 50 95 | 125 ]| 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 | 292| 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 19.7
32-160/0.37 50 95 | 125 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 | 292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 19.9
32-200/0.55R 50 95 | 125|165 |16 | 4 - 32 75 | 100| 140 | 14| 1 | 340 | 160 | 180 | 119 | 80 | 70 | 119 | 190 | 240 | 296 | 393 219 PG 11 245
32-200/0.55 50 95 | 125 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 | 340 | 160 | 180 | 119 | 80 | 70 | 119 | 190 | 240 | 296 | 393 219 PG 11 245
32-200/0.75 50 95 | 125 165 | 16 | 4 - 32 75 | 100 | 140 | 14| 1 | 340 | 160 | 180 | 124 | 80 | 70 | 119 | 190 | 240 | 296 | 432 | 244+255 | PG 13.5| 281
40-125/0.37R 65 | 115|145 185 |16 | 4 - 40 80 | 110 150 | 14| 1 | 252 | 112 | 140 | 102 | 80 | 70 | 114 | 160 | 210 | 213 | 371 205 PG 11 15.6
40-125/0.37 65 | 115|145 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 1 | 252 | 112 | 140 | 102 | 80 | 70 | 114 | 160 | 210 | 213 | 371 205 PG 11 15.7
40-160/0.55R 65 | 115|145 185 |16 | 4 - 40 80 | 110 150 | 14| 1 | 292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 20.2
40-160/0.55 65 | 115 | 145 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 1 | 292 | 132 | 160 | 119 | 80 | 70 | 118 | 190 | 240 | 254 | 393 219 PG 11 206
40-200/1.1R 65 | 115|145 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 2 | 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG13.5| 285
40-200/1.1 65 | 115|145 185 |16 | 4 - 40 80 | 110 150 | 14| 2 | 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG 13.5| 286
40-200/1.5 65 | 115 | 145]| 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 2 | 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 30.3
50-125/0.55R 65 | 115|145 185 | 16 | 4 - 50 95 | 125| 165 |16 | 2 | 292 | 132 | 160 | 119 | 100| 70 | 114 | 190 | 240 | 254 | 413 219 PG 11 204
50-125/0.55 65 | 115 | 145 185 | 16 | 4 - 50 95 | 125| 165 |16 | 2 | 292 | 132 | 160 | 119 | 100| 70 | 114 | 190 | 240 | 254 | 413 219 PG 11 20.5
50-160/1.1R 65 | 115 | 145 185 | 16 | 4 - 50 95 | 125 | 165 | 16| 2 | 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG13.5| 286
50-160/1.1 65 | 115|145 185 |16 | 4 - 50 95 | 125| 165 |16 | 2 | 340 | 160 | 180 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 452 | 244+255 | PG 13.5| 287
50-200/15R 65 | 115|145 185 | 16 | 4 50 95 | 125 | 165 |16 | 2 | 360 | 160 | 200 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 305
50-200/1.5 65 | 115 | 145 185 | 16 | 4 - 50 95 | 125 | 165 | 16| 2 | 360 | 160 | 200 | 124 | 100| 70 | 115 | 212 | 265 | 296 | 491 | 244+255 | PG13.5| 316
50-200/2.2 65 | 115 | 145 185 | 16 | 4 50 95 | 125 | 165 | 16 | 2 | 360 | 160 | 200 | 141 | 100| 70 | 115 | 212 | 265 | 296 | 474 253 PG 16 30
65-125/0.55 80 | 134 | 160 | 200 | 18 | 8 4| 65| 115 | 145| 185 | 16 | 2 | 340 | 160 | 180 | 119 | 100| 95 | 140 | 212 | 280 | 254 | 413 219 PG 11 219
65-125/0.75 80 | 134|160 | 200 | 18| 8 4| 65 | 115 | 145| 185 | 16| 2 | 340 | 160 | 180 | 124 | 100| 95 | 140 | 212 | 280 | 254 | 452 | 244+255 | PG 13.5 20
65-125/1.1 80 | 134 | 160 | 200 | 18 | 8 4| 65| 115 | 145 | 185 | 16 | 2 | 340 | 160 | 180 | 124 | 100| 95 | 140 | 212 | 280 | 254 | 452 | 244+255 | PG 13.5 20
65-160/1.1 80 | 134 | 160 | 200 | 18 | 8 4| 65| 115 | 145 | 185 | 16 | 2 | 360 | 160 | 200 | 124 | 100| 95 | 140 | 212 | 280 | 296 | 452 | 244+255 | PG13.5| 285
65-160/1.5 80 | 134|160 | 200 | 18| 8 4| 65 | 115 | 145| 185 | 16| 2 | 360 | 160 | 200 | 124 | 100| 95 | 140 | 212 | 280 | 296 | 491 | 244+255 | PG13.5 30
65-160/2.2 80 | 134 | 160 | 200 | 18 | 8 4| 65| 115 | 145 | 185 | 16 | 2 | 360 | 160 | 200 | 141 | 100| 95 | 140 | 212 | 280 | 296 | 474 253 PG 16 32
65-200/2.2R 80 | 134|160 | 200 | 18| 8 4| 65 | 115 | 145| 185 | 16 | 2 | 405 | 180 | 225 | 141 | 100| 95 | 140 | 250 | 320 | 296 | 474 253 PG 16 30
65-200/2.2 80 | 134|160 | 200 | 18 | 8 4| 65 | 115 | 145| 185 | 16 | 2 | 405 | 180 | 225 | 141 | 100| 95 | 140 | 250 | 320 | 296 | 474 253 PG 16 30
65-200/3 80 | 134|160 | 200 | 18 | 8 4| 65 | 115 | 145| 185 | 16 | 2 | 405 | 180 | 225 | 141 | 100| 95 | 140 | 250 | 320 | 296 | 514 253 PG 16 38
[1] Standard [2] On request

400

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

S50Hz

Rev. |
PUMP 3(.)M4 65-250, 80-160/200, 80-250/5.5
D2
P2
Al A2
DN2
o 2-G3/8
|4
L
8-918
N
pu
M
T pu
pu
— — P . © -
o a -
—
pu
W 25 4-¢D3
M N1
R | C N2
T
B
Dimensions [mm i
Pump type [mm] W:lght
DN1| P1 | K1 | D1|S1 DN2 P2 D2 |S2] H|{HL | H2 H3|H4| R | W NI/ N2| M Ml|Al A2| B C G | D3 V1 V2 kaf]
65-250/4 80 | 135|160|200| 22| 65Fig.1 | 120| 185 20 | 450 | 200 | 250 | 150 | 15 | 100 | 120 | 280 | 360 | 160| 80 | 175| 182 | 559 295 220| 19| pG13.5| PG16 81
65-250/5.5 80 |135|160|200| 22| 65Fig.1 | 120| 185| 20 | 450| 200 | 250 | 178 | 15| 100 | 120 | 280 | 360 | 160| 80 | 175| 182 | 612 376 259| 19| PG13.5| PG21 96
80-160/1.5 100 | 155| 180| 225| 24 | 80 Fig.2 | 135|200| 22| 405| 180 | 225| 124 | 13| 125| 95 | 250 | 320 | 125| 65| 147 | 173 | 516 | 244+255| 176 | 15 - PG13.5 53
80-160/2.2R | 100 | 155|180 | 225| 24 | 80 Fig.2 | 135| 200| 22 | 405| 180 | 225| 141| 13 | 125| 95 | 250| 320 | 125| 65 | 147 | 173 | 499 253 193| 15 - PG16 53
80-160/2.2 100 | 155| 180| 225| 24 | 80 Fig.2 | 135|200| 22| 405| 180 | 225| 141 | 13| 125| 95 | 250 | 320 | 125| 65 | 147 | 173 | 499 253 193| 15 - PG16 53
80-200/3 100 | 155| 180| 225| 24 | 80 Fig.2 | 135|200| 22| 430| 180|250 | 141| 13| 125| 95 | 280 | 345| 125| 65| 175| 182 | 561 275 193| 15 - PG16 73
80-200/4R 100 | 155| 180| 225| 24 | 80 Fig.2 | 135|200| 22| 430| 180|250 | 150 | 13| 125| 95 | 280 | 345| 125| 65| 175| 182 | 584 295 220| 15| pG13.5| PG16 80
80-200/4 100 | 155(180| 225| 24| 80 Fig.2 | 135|200| 22 | 430| 180 | 250 | 150| 13| 125| 95 | 280| 345| 125| 65| 175| 182 | 584 295 220| 15| PG13.5| PG16 81
80-250/5.5R | 100 | 155|180| 225| 24 | 80 Fig.2 | 135|200| 22| 480| 200| 280| 178| 15| 125| 120| 315| 400 | 160 | 80 | 175| 192 | 637 376 259| 19| PG13.5| PG21 94
80-250/5.5 100 | 155|180 | 225| 24 | 80 Fig.2 | 135|200 | 22 | 480| 200 | 280 | 178| 15| 125| 120 | 315| 400 | 160 | 80 | 175| 192 | 637 376 259| 19| PG13.5| PG21 95

401

B Eaana

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT S50Hz

Rev. |

PUMP 3(.)M4 80-250/7.5

175 ‘ 192

280

194

480

¢ 225
# 155

132

200

68

919 H 80

$18 — 8 fori

228

|

|

|

|

|

|

[
315
340

Weight: 105 kgf

402

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

S50Hz

Rev. |
PUMP 3(.)S4 32, 40, 50, 65-125/160
B
D2
P2
DN2 i V2 A
o
2] ‘ 7-918
rl ) Z-918
B EJ o
| - e 2= 5 T
| oo / &
= = = & ﬁ 7 -
i e =1 XU
| 00000 ]
- © & -
pu g
|
Fig. 1 —
R | C 15 | 4-915
W 2—-K N1
St M N2
<
e 9
Fig. 2 . & @N/g
L
25 |
DN2
Dimensions (mm) .
Weight
Pump type %] [%] %] [%] z [%] %] [%] %] [kgf]
DN1| P1 | K1 | D1 | S1|[1]|[2]|DN2| P2 | K2 | D2 | S2 | Fig.| H H1| H2 | H3 | R W M | N1|[N2| A B C X Y K V1 V2
32-125/0.25 50 | 95 |125|165| 16| 4| - | 32 | 75| 100| 140| 14 1 |252]112|140| 114| 80 | 70 | 114| 140| 190 | 213 | 404 | 153 | 112 | 140| 8 | M20x1.5| M16x1.5 15.4
32-160/0.37R 50| 95 |125|165| 16| 4| - | 32 | 75 |100| 140| 14 1 |292|132|160|114| 80 | 70 | 118 | 190 | 240 | 254 | 404 | 153 | 112 | 140| 8 | M20x1.5| M16x1.5 18.5
32-160/0.37 50| 95 |125|165| 16| 4| - | 32 | 75 |100| 140| 14 1 |292|132|160|114| 80 | 70 | 118 | 190 | 240 | 254 | 404 | 153 | 112 | 140| 8 | M20x1.5| M16x1.5 18.7
32-200/0.55R 50 | 95 |125|165| 16| 4| - | 32 | 75| 100| 140| 14 1 [340|160( 180| 139| 80 | 70 | 119| 190| 240 | 296 | 430 | 174 | 140 | 168| 10 | M25x1.5 | M20x1.5 28
32-200/0.55 50| 95 |125|165| 16| 4| - | 32| 75|100|140| 14| 1 |340|160|180|139| 80 | 70 | 119| 190 | 240| 296 | 430 | 174 | 140| 168| 10 | M25x1.5 | M20x1.5 33
32-200/0.75 50 | 95 |125|165| 16| 4| - | 32 | 75 | 100| 140| 14 1 [340|160(| 180| 139| 80 | 70 | 119| 190| 240 | 296 | 430 | 174 | 140 | 168 | 10 | M25x1.5 | M20x1.5 29.5
40-125/0.37R 65 |115|145(185| 16| 4| - | 40 | 80 | 110| 150| 14 1 |252|112|140|114| 80 | 70 | 114 | 160 | 210 | 213 | 404 | 153 | 112 | 140| 8 | M20x1.5| M16x1.5 16.2
40-125/0.37 65 | 115|145|185| 16| 4| - | 40 | 80 | 110| 150| 14 1 |252]112|140| 114| 80 | 70 | 114 | 160| 210 | 213 | 404 | 153 | 112 | 140| 8 | M20x1.5| M16x1.5 16.2
40-160/0.55R 65 |115|145(185| 16| 4| - | 40 | 80 | 110| 150 14 1 |292|132|160|139| 80 | 70 | 118 | 190 | 240 | 254 | 430 | 174 | 140 | 168 | 10 | M25x1.5 | M20x1.5 23.5
40-160/0.55 65 |115|145|185| 16 | 4 | - | 40 | 80 | 110| 150| 14 1 |292|132|160|139| 80 | 70 | 118 | 190 | 240 | 254 | 430 | 174 | 140 | 168 | 10 | M25x1.5 | M20x1.5 235
40-200/1.1R 65 | 115|145|185| 16| 4| - | 40 | 80 | 110| 150| 14 | 2 | 340|160 180| 148 | 100| 70 | 115| 212| 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 34.3
40-200/1.1 65 |115|145(185| 16| 4| - | 40 | 80 | 110| 150| 14| 2 | 340|160 180| 148|100 | 70 | 115| 212 | 265| 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 34.3
40-200/1.5 65 | 115|145|185| 16| 4| - | 40 | 80 | 110| 150| 14 | 2 |340| 160| 180| 148 | 100| 70 | 115| 212| 265| 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 35.5
50-125/0.55R 65 |115|145(185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 | 292|132| 160| 139| 100 | 70 | 114 | 190 | 240| 254 | 450 | 174 | 140| 168| 10 | M25x1.5 | M20x1.5 23.7
50-125/0.55 65 | 115|145|185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 [292|132| 160| 139| 100| 70 | 114 | 190| 240 | 254 | 450 | 174 | 140 | 168 | 10 | M25x1.5 | M20x1.5 23.7
50-160/1.1R 65 |115|145(185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 | 340|160 180 | 148| 100 | 70 | 115| 212 | 265| 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 34
50-160/1.1 65 |115|145(185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 | 340|160 180 | 148| 100 | 70 | 115| 212 | 265| 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 34
50-200/1.5R 65 | 115|145|185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 |[360| 160|200 | 148 | 100| 70 | 115| 212| 265 | 296 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 37.1
50-200/1.5 65 |115|145|185| 16| 4| - | 50 | 95 | 125| 165| 16 | 2 | 360 | 160 | 200 | 148| 100 | 70 | 115| 212 | 265| 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 37.1
65-125/0.55 80 | 134| 160|200| 18| 8 | 4 | 65 | 115| 145| 185| 16 | 2 | 340| 160| 180 | 139| 100 | 95 | 140 | 212| 280 | 254 | 450 | 174 | 140| 168| 10 | M25x1.5 | M20x1.5 21.5
65-125/0.75 80 | 134|160|200| 18| 8 | 4 | 65 | 115|145| 185| 16 | 2 | 340| 160|180 | 139| 100 | 95 | 140 | 212| 280 | 254 | 450 | 174 | 140| 168| 10 | M25x1.5 | M20x1.5 30
65-125/1.1 80 | 134|160|200| 18| 8 | 4| 65 | 115|145|185| 16 | 2 |340| 160| 180| 148 | 100| 95 | 140| 212| 280 | 254 | 497 | 186 | 140 | 168 | 10 | M25x1.5 | M20x1.5 30
65-160/1.1 80 | 134|160|200| 18| 8 | 4 | 65 | 115|145| 185| 16 | 2 | 360| 160| 200 | 148| 100 | 95 | 140 | 212| 280 | 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 31
65-160/1.5 80 | 134| 160| 200| 18| 8 | 4 | 65 | 115| 145| 185| 16 | 2 | 360 | 160 | 200 | 148| 100 | 95 | 140 | 212 | 280 | 296 | 497 | 186 | 140| 168| 10 | M25x1.5 | M20x1.5 43

[1] Standard

[2] On request

403

E2ARA

EBARA

PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT 50Hz
Rev. |
PUMP 3(.)S4 50, 65-160/200
548
M25x1.5 296
M20x1.5 L8
—t 7-918
o e[
o~
Lo} T
— 0
_ — (77 \ =
) — 54
:l—‘: v (33\ —
— 2=\
n
T T * T T
100 205 ‘ 140 ‘ 22.5 H 4-915
25 W N1
N2
o~
o
o~
Dimensions (mm) .
Weight
Pump type 2| 2| 0| @ z o 0| 0| @ [kof]
DN1| P1 | K1 | D1 | S1|[1]|[2]|DN2| P2 | K2 | D2 | H | HL| H2| W | M | N1 | N2
3S 50-200/2.2 65 | 115|145/ 185| 16 | 4| - | 50 | 95 | 125| 165|360 160 | 200| 70 | 115|212 | 265 43
3S 65-160/2.2 80 | 134|160|200| 18 | 8 | 4 | 65 | 115| 145 | 185|360 | 160 | 200| 95 | 140 | 212 | 280| 46
3565-20022R | 80 | 134|160|200| 18 | 8 | 4 | 65 | 115| 145 | 185 | 405 | 180 | 225| 95 | 140 | 250 | 320| 42.5
3S 65-200/2.2 80 | 134|160|200| 18 | 8 | 4 | 65 | 115| 145 | 185 | 405 | 180 | 225| 95 | 140 | 250 | 320 43
3S 65-200/3 80 | 134|160|200| 18 | 8 | 4 | 65 | 115| 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320| 48.5

[1] Standard

[2] On request

404

EBARA PUMPS EUROPE S.p.A.



'v'd's 3dodn3a sdNd YHv4g3

1°10) 7

P2
DN2 Vi
&
V2
8-¢18
St —
N
- T
pu
_ =T T
_ I T 1
[ ———— — © L *
ASY
T
e}
pu g
|
T
4-¢D3
N1
F1 N2
R I_F 50
Dimensions [mm] Weight
Pump type Kaf
DN1|P1|K1 |D1|S1| DN2 |P2|D2[S2| H |H1|H2|H3 |H4[H5| R |W [N1|N2|M [M1| L |L1|L2|L5|AL[A2|B |C |F1|G |D3] V1 V2 [kgf]
65-250/4 80 [135]160 [200 |22 |65 Fig. 1|120 [185 |20 [450 200 [250 |171 |15 [88 |100 [120 |280 |360 |160 |80 |147 |265|290 |187 |175|182 580 |215 |20 |225 |19 [M25x1.5 [M20x1.5 85
65-250/5.5 80 [135[160 |200 |22 |65 Fig. 1/120 |185 20 |450 (200 |250 |198 |15 |68 |100 [120 |280 |360 [160 |80 |157 |315|340 [228 {175 |182 |637 |264 | 46 |248 |19 [M32x1.5|M32x1.5| 108
80-160/2.2R |100 [155 |180 [225 |24 |80 Fig. 2|135|200 |22 |405|180 |225 |155 |13 |80 |125 | 95 |250 |320 |125 |65 140|250 |275 |190 |147 |173 |573 |205 | 25 |196 |15 |[M25x1.5 |M20x1.5| 69.7
80-160/2.2  |100 |155 180|225 |24 |80 Fig. 2135|200 [22 |405 180 |225 |155 |13 |80 |125 | 95 |250 [320 [125 |65 [140 |250[275[190 147|173 [573 |205 |25 |196 |15 [M25x1.5|M20x1.5| 70
80-200/3 100 155|180 |225 |24 [80 Fig. 2|135 200 |22 |430 (180 |250 |155 |13 |80 |125| 95 |280 |345|125 |65 |140|250 (275|190 |175|182 |583 |215 |25 |196 |15 |[M25x1.5|M20x1.5 80
80-200/4R 100 |155 180 [225 |24 |80 Fig. 2|135]200 |22 [430|180 250|171 |13 |68 |125| 95 |280 |345|125 |65 157|315 (340|228 |175|182|605 |198 [46 |225[15 |[M25x1.5[M20x1.5| 84
80-200/4 100 155|180 |225 |24 [80 Fig. 2|135|200 |22 |430 (180|250 |171 |13 |68 |125| 95 |280 |345|125 |65 |157 |315 (340|228 |175|182 |605 |198 |46 |225 |15 |[M25x1.5|M20x1.5 90
80-250/5.5R |100 |155 180 |225 |24 |80 Fig. 2|135|200 |22 |480 (200 |280 |198 |15 |68 |125 |120 |315 |400 [160 |80 [157 |315[340 [228 175|192 [662 |264 |46 |248 |19 [M32x1.5|M32x1.5] 114
80-250/5.5 100 155|180 |225 |24 [80 Fig. 2[135 200 |22 |480|200 |280 |198 |15 |68 |125 120 |315 |400 |160 |80 |157 [315|340 228|175 [192 |662 |264 | 46 |248 |19 [M32x1.5|M32x1.5| 115
80-250/7.5 |100 |155 (180 |225 |24 |80 Fig. 2|135|200 |22 |480 200 |280 |198 |15 |68 |125 |120 |315 |400 [160 |80 [157 |315[340 [228 |175[192 [702 |264 | 46 |248 |19 [M32x1.5|M32x1.5] 120

[1] Standard

[2] On request

08 ‘05¢-99 ¥S1€ dANd

| ‘Aad

1HOIIM ANV SNOISN3INIA

ZHOS

SdIANNd TvONdIdLNdD

S9|0d ¥ SJIHAS €



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT S50Hz

Rev. |

PUMP 3LS4 80-160/1.5

¢ 200
8 135 147 173
DN80 _
~ M25x1.5 2-63/8
~
| M20x1.5 8—¢18
A o :
_ ©
— A
- o ©
98 8 i : ?
s s B 0000 e < 2180
: R i 3
( m| —
24 t t == JE—
95 »J 15 4-¢15 65
125 250
125 | 186 320
522
o| ©
- 3 <
Weight: 60.5 kgf
406

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

DIMENSIONS AND WEIGHT

S50Hz

Rev. |
PUMP 3(.)P4 32, 40, 50, 65-125/160/200
B
D2 B1
P2
DN2
R A
o Vi V2
(7]
St
e} B
————
i m— %r\&
s = % Iﬁ- ......... 4 — JL -
: ' 3 '@NJ -
x
| 2y : o Z-918 @
PR P ™ 2L
Only for ‘ 3
32-125/0.25 : e S
32-160/0.37 | | '
32-200/0.55/0.75 360 3 4-¢15 0 N3
40-125/0.37
40-160/0.55 80 E | N1
T N2
Dimensions [mm] .
umpype | 2| 2| @] @ olo|o|o Weight
on| Pl ki | ot |st|llone| P2 | k2 | D2 |2 H HL | H2 | H3 R A B B1 E N1 | N2 | N3 T Vi V2 [kaf]
3P 32-125/0.25 50| 95| 125|165 16| 4| - | 32 | 75 | 100|140 | 14| 302 | 112 | 140| 114 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 37
3P32-160/0.37R | 50 | 95 | 125 165 16] 4| - | 32 | 75 | 100 | 140 14] 342 | 132 | 160 | 114| 80 | 254 | 689 | 246 | 510 | 350 | 390 | 300 | 670 | M20xL15 | MI6x15 | 41
3P 32-160/0.37 50| 95| 125|165| 16| 4| - | 32 | 75 | 100|140 | 14| 342 | 132 | 160| 114} 80 | 254 | 689 | 246 | 510 | 350 | 390 | 300 | 670 | M20x1.5 | M16x1.5 41
3P32-200/0.55R | 50 | 95| 125| 165| 16| 4| - | 32 | 75 | 100|140 | 14| 390 | 160 | 180 | 139| 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 53.5
3P32-200/0.55 | 50 | 95 | 125 | 165 16| 4| - | 32 | 75 | 100 | 140 | 14| 390 | 160 | 180 | 139 | 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x15 | M20x15 | 535
3P32-200/0.75 | 50 | 95 | 125 | 165 16| 4| - | 32 | 75 | 100 | 140 | 14| 390 | 160 | 180 | 139 | 80 | 296 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x15 | M20x1.5 | 545
3P40-125/0.37R | 65 |115| 145| 185| 16| 4| - | 40 | 80 | 110|150} 14| 302 | 112 | 140 | 114} 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 46.5
3P40-125/0.37 | 65 |115| 145 | 185 16| 4| - | 40 | 80 | 110 | 150 | 14| 302 | 112 | 140 | 114| 80 | 213 | 689 | 246 | 550 | 300 | 340 | 250 | 710 | M2OX15 | MI6x15 | 465
3P40-160/0.55R | 65 | 115] 145 | 185 16] 4| - | 40 | 80 | 110 | 150 14| 342 | 132 | 160 | 139| 80 | 254 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x15 | M20x15 | 445
3P 40-160/0.55 65 |115| 145| 185| 16| 4| - | 40 | 80 | 110|150 | 14| 342 | 132 | 160 | 139} 80 | 254 | 715 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 44.5
3P 40-200/1.1R 65 |115| 145|185} 16| 4| - : 40 | 80 {110 | 150 | 14| 390 | 160 | 180 | 148} 100 | 296 | 780 | 317 | 590 | 350 | 390 } 300 | 750 | M25x1.5 | M20x1.5 61.5
3P40-200/1.1 | 65 |115] 145 | 185 16] 4| - | 40 | 80 | 110 | 150 | 14] 390 | 160 | 180 | 148 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 615
3P 40-200/1.5 65 |115| 145 185| 16| 4| - | 40 | 80 | 110|150 | 14| 390 | 160 | 180 | 148 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 64
3P50-125/0.55R | 65 |115| 145| 185| 16| 4| - { 50 | 95 | 125|165 | 16| 342 | 132 | 160 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 45
3P50-125/0.55 | 65 |115| 145 | 185 16] 4| - | 50 | 95 | 125 | 165 ] 16) 342 | 132 | 160 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x15 | M2Ox15 | 45
3P50-160/1.1R | 65 |115] 145 185 16] 4| - | 50 | 95 | 125 | 165 16] 390 | 160 | 180 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x15 | 525
3P50-160/1.1 65 |115| 145| 185| 16| 4| - | 50 | 95 | 125|165 | 16| 390 | 160 | 180 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 525
3P50-200/1.5R | 65 |115] 145 | 185] 16] 4| - | 50 | 95 | 125 | 165 ] 16] 410 | 160 | 200 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x15 | M2Ox15 | 64
3P50-200/1.5 | 65 |115] 145 | 185] 16] 4| - | 50 | 95 | 125 | 165 | 16) 410 | 160 | 200 | 148 | 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | MBOX1.5 | 64
3P 50-200/2.2 65 |115| 145|185 16| 4| - 1 50 | 95 {125 | 165| 16| 410 | 160 | 200 | 155} 100 | 296 | 829 | 366 | 590 | 350 | 390 } 300 | 750 | M25x1.5 | M20x1.5 70
3P 65-125/0.55 80 |134| 160 | 200 | 18| 8| 4| 65 | 115|145|185| 16| 390 | 160 | 180 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 48.5
3P65-125/0.75 | 80 | 134] 160 | 200 | 18| 8 | 4 | 65 | 115 | 145 | 185 16 390 | 160 | 180 | 139 | 100 | 254 | 735 | 272 | 510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x15 | 485
3P65-125/1.1 80 |134| 160 | 200| 18| 8| 4| 65 | 115|145 | 185| 16| 390 | 160 | 180 | 148 | 100 | 254 | 780 | 317 | 590 | 350 | 390 { 300 | 750 | M25x1.5 | M20x1.5 56
3P65-160/1.1 80 |134| 160 | 200} 18| 8| 4 . 65 | 115|145 | 185| 16| 410 | 160 | 200 | 148} 100 | 296 | 780 | 317 | 590 | 350 | 390 } 300 | 750 | M25x1.5 | M20x1.5 62.5
3P65-160/1.5 | 80 |134] 160 | 200 | 18| 8 | 4 | 65 | 115 145 | 185 | 16] 410 | 160 | 200 | 148 100 | 296 | 780 | 317 | 590 | 350 | 390 | 300 | 750 | M25x15 | M20x15 | 635
3P65-160/2.2 | 80 | 134] 160 | 200 | 18| 8 | 4 | 65 | 115 | 145 | 185 | 16| 410 | 160 | 200 | 155 100 | 296 | 829 | 366 | 590 | 350 | 390 | 300 | 750 | M25x15 | M20x15 | 715
3P 65-200/2.2R 80 |134| 160 | 200| 18| 8| 4 | 65 | 115|145 | 185| 16| 455 | 180 | 225 | 155} 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 74
3P65-200/2.2 | 80 |134] 160 | 200 18| 8 | 4 | 65 | 115 | 145 | 185 ] 16 455 | 180 | 225 | 155 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x15 | M2OX15 | 74
3P 65-200/3 80 | 134) 160 200| 18| 8 | 4 | 65 | 115 | 145 | 185 | 16| 455 | 180 | 225 | 155 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x15 | M2Ox15 | 77.5

[1] Standard

[2] On request

407

E2ARA

EBARA PUMPS EUROPE S.p.A.



'v'd's 3dodn3a sdNd YHv4g3

80v

D1

D2 B1
P2
DN2 2-G3/8
S1 . J
8-¢18
£
1
" N
pu g
= (&)
T = - - |
a3 Py ; T
' & =
pu g
n
== .
Q.
w
| <
I
R C 4-9¢D4 N3
D E N1
T N2
Dimensions [mm] Weight
Pump type
DN1| P1|D1|s1| DN2 [P2|D2|S2| H |HL|H2|H3|H4|H5| R|NL|N2[N3| B |BL|C|[D|G|E| T|D4|Sp.| W1 V2 [kgf]
65-250/4 80 |135[200| 22 | 65 Fig. 1| 120|185| 20 |510(200| 250|171 60 | 88 | 100{510|570|440| 961 |388|470]|100|225(760|960| 19 [ 8 | M25x1.5 [M20x1.5 | 1135
65-250/5.5 | 80 |135]200( 22 | 65 Fig. 1| 120|185 20 | 510{ 200|250 198| 60 | 68 | 100|510 |570|440|1015 (442 [470| 100| 248| 760|960] 19 | 8 | M32x1.5| M32x1.5| 130
80-160/1.5 | 100 |155]225( 24 | 80 Fig. 2 | 135|200 22 | 455|180 225 148] 50 | 90 | 125|380 420|330| 805 317|360 80 | 180|590 750| 15 | 5 | M25x1.5 [M20x1.5 | 80
80-160/2.2R | 100 | 155]225( 24 | 80 Fig. 2 | 135|200 22 | 455|180 225 155] 50 | 80 | 125|380 420|330| 854 366|360 80 | 196|590 750| 15 | 5 | M25x1.5|M20x1.5 | 86
80-160/2.2 [ 100 |155]225( 24 | 80 Fig. 2| 135|200 22 | 455| 180|225 155] 50 | 80 | 125|380 420|330| 854 366|360 80 |196]590(750| 15 | 5 | M25x1.5 [M20x1.5 | 100,5
80-200/3 100 | 155|225 24 | 80 Fig. 2 | 135[200| 22 |490(180| 250|155 60 | 80 | 125|460 520|390| 964 |366|470]|100|196(700|900| 19 [ 8 | M25x1.5 [M20x1.5 | 109,5
80-200/4R | 100 |155]225( 24 | 80 Fig. 2 | 135|200 22 | 490| 180|250 171] 60 | 68 | 125|460 |520|390| 986 |388[470|100|225|700[900| 19 | 8 | M25x1.5 [M20x1.5 | 116,5
80-200/4 100 | 155|225| 24 | 80 Fig. 2| 135(200| 22 | 490(180| 250|171 60 | 68 | 125|460|520(390| 986 |388|470|100( 225|700/ 900| 19 | 8 | M25x1.5 |M20x15 | 117
80-250/5.5R | 100 | 155]225( 24 | 80 Fig. 2 | 135|200 22 | 540( 200|280 198| 60 | 68 | 125|510 570|440|1040 (442 [470| 100| 248|760|960]| 19 | 8 | M32x1.5| M32x1.5| 134
80-250/5.5 [ 100 |155]225( 24 | 80 Fig. 2 | 135|200 22 | 540| 200|280 198] 60 | 68 | 125|510 570|440| 1040|442 [470| 100| 248|760 [ 960| 19 | 8 | M32x1.5 [ M32x1.5| 134,5
80-250/7.5 | 100 |155]225( 24 | 80 Fig. 2 | 135|200 22 | 540|200 280|198 60 | 68 | 125|510 570|440| 1080|482 [470|100| 248| 760[960| 19 | 8 | M32x1.5 [ M32x1.5 | 1435

[1] Standard

[2] On request

08 ‘05¢-99 vd1€ dANd

| ‘Aad

ZHOS

1HOIIM ANV SNOISN3INIA

SdIANNd TvONdIdLNdD

S9|0d ¥ SdIddS €



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT S50Hz

Rev. |

PACKING 3(.)M4

Pump type Packing [mm] Weight Pack
7 X v [kaf] type

32-125/0.25 450 | 250 | 300 18.1
32-160/0.37R 430 | 280 | 340 215
32-160/0.37 22.1
32-200/0.55R 26.4
32-200/0.55 500 | 330 | 390 26.4 TYPE 1
32-200/0.75 31 1 -
40-125/0.37R 450 | 250 | 300 16.9
40-125/0.37 17
40-160/0.55R 430 | 280 | 340 23.3
40-160/0.55 23.4 .
40-200/1.1R 500 | 330 | 390 317
40-200/1.1 318
40-200/1.5 580 | 350 | 416 33 2
50-125/0.55R 430 | 280 | 340 225 A Ry
50-125/0.55 22.6
50-160/1.1R 315 1 /
50-160/1.1 31.6
50-200/1.5R 500 | 330 | 390 327
50-200/1.5 33.8 ) TYPE 2
50-200/2.2 580 | 350 | 416 327
65-125/0.55 24.3 —— -
65-125/0.75 22

500 | 330 | 390 1
65-125/1.1 26.5
65-160/1.1 31
65-160/1.5 580 | 350 | 416 34 2 .
65-160/2.2 500 | 330 | 390 35 1
65-200/2.2R 35
65-200/2.2 600 | 390 | 533 35
65-200/3 40 J t
65-250/4 92 - 1
65-250/5.5 760 | 455 | 613 T og \ z \
80-160/1.5 58 ‘ ‘
80-160/2.2R 580 | 370 | 538 58 )
80-160/2.2 58
80-200/3 78
80-250/4R 85
80-250/4 86
80-250/5.5R 760 | 455 | 613 99
80-250/5.5 103
80-250/7.5 110

409

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT S50Hz

Rev. |

PACKING 3(.)S4

Packing [mm i
Pump type g[mm] Wslght Pack
32-125/0.25 450 | 250 | 300 175
32-160/0.37R 490 | 280 | 340 215
32-160/0.37 430 | 280 | 330 213
32-200/0.55R 30.1
32-200/0.55 500 | 330 | 390 343
1 TYPE 1

32-200/0.75 323
40-125/0.37R 185 }

450 | 250 | 300
40-125/0.37 1838
40-160/0.55R 255

490 | 280 | 340
40-160/0.55 256 .
40-200/1.1R 354
40-200/1.1 700 | 350 | 498 354 2
40-200/1.5 40.7 | +
50-125/0.55R 25.9 \

490 | 280 | 340 1 7
50-125/0.55 259
50-160/1. 1R 40
50-160/1.1 40 TYPE 2
50-200/1.5R 700 | 350 | 498 38.6
50-200/1.5 38.6 i
50-200/2.2 475 — T
65-125/0.55 28
65-125/0.75 33
65-125/1.1 580 | 350 | 488 371
65-160/1.1 39 >
65-160/1.5 40
65-160/2.2 45
65-200/2.2R 600 | 390 | 533 50
65-200/2.2 50 2 J t
65-200/3 50 r A+
65-250/4 760 | 455 | 613 95 ‘ Z ‘
65-250/5.5 116
80-160/1.5 580 69.5
80-160/2,2R g0 | 370 | 538 755
80-160/2,2 76
80-200/3 88
80-200/4R 94
80-200/4 760 | 455 | 613 97
80-250/5.5R 124
80-250/5.5 125
80-250/7.5 130

410

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

DIMENSIONS AND WEIGHT S50Hz

Rev. |

PACKING 3(.)P4

Purmp type Packing [mm] Weight
[kgf]
z X Y
32-125/0.25 394 37
32-160/0.37R 41
434
32-160/0.37 41
32-200/0.55R 53.5
32-200/0.55 482 [ 535
32-200/0.75 54.5
40-125/0.37R 46.5
394
40-125/0.37 46.5
40-160/0.55R 44.5
434
40-160/0.55 44.5
40-200/1.1R 61.5
40-200/1.1 482 [ 615
40-200/1.5 64
50-125/0.55R 45
434
50-125/0.55 45
50-160/1.1R 52.5
482
50-160/1.1 52.5
50-200/1.5R 64
50-200/1.5 502 64
50-200/2.2 1200 | 800 70
65-125/0.55 48.5
65-125/0.75 482 50
65-125/1.1 56
65-160/1.1 62.5
65-160/1.5 502 [ 635
65-160/2.2 715
65-200/2.2R 74
65-200/2.2 547 74
65-200/3 775
65-250/4 635 | 1135
65-250/5.5 130
80-160/1.5 80
80-160/2.2R 580 86
80-160/2.2 100.5
80-200/3 109.5
80-200/4R 615 F 1165
80-200/4 117
80-250/5.5R 134
80-250/5.5 665 F 1345
80-250/7.5 1435

411

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SERIES 4 Poles

TECHNICAL DATA S50Hz

Rev. |

MOTOR DATA 3(.)M4

Efficiency (% load) Full load current Locked rotor current
Pump type - Effciency l[nk?,:;; an: E)A)ower-factor e [A] [A]

Y s0% | 75% | 100% 230V | 400V | 690 V | 230V | 400 V | 690 V
3(.)M4 32-125/0.25 0.25 | 0.33 - 0.55 - - - - 1.9 11 - 7.3 4.2 -
3(.)M4 32-160/0.37R 0.37 0.5 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 32-160/0.37 0.37 0.5 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 32-200/0.55R 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 32-200/0.55 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 32-200/0.75 0.75 1 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 40-125/0.37R 0.37 0.5 - 0.55 - - - - 1.9 11 - 7.3 4.2 -
3(.)M4 40-125/0.37 0.37 0.5 - 0.55 - - - - 1.9 11 - 7.3 4.2 -
3(.)M4 40-160/0.55R 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 40-160/0.55 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 40-200/1.1R 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 40-200/1.1 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 40-200/1.5 15 2 IE2 1.88 | 80.3 | 834 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 50-125/0.55R 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 50-125/0.55 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 50-160/1.1R 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 50-160/1.1 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 50-200/1.5R 15 2 IE2 1.88 | 80.3 | 834 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 50-200/1.5 15 2 IE2 1.88 | 80.3 | 834 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 50-200/2.2 2.2 3 IE2 270 | 84.6 | 8.0 | 856 | 0.83 | 8.1 4.7 - 52.0 | 30.0 -
3(.)M4 65-125/0.55 0.55 | 0.75 - 0.80 - - - - 2.6 15 - 9.9 5.7 -
3(.)M4 65-125/0.75 0.75 1 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 65-125/1.1 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 65-160/1.1 11 15 IE2 141 | 784 | 816 | 819 | 0.76 4.6 2.7 - 32.0 | 185 -
3(.)M4 65-160/1.5 15 2 IE2 1.88 | 80.3 | 83.4 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3(.)M4 65-160/2.2 2.2 3 IE2 270 | 84.6 | 86.0 | 85.6 | 0.83 8.1 4.7 - 52.0 | 30.0 -
3(.)M4 65-200/2.2R 2.2 3 IE2 270 | 84.6 | 8.0 | 856 | 0.83 | 8.1 4.7 - 52.0 | 30.0 -
3(.)M4 65-200/2.2 2.2 3 IE2 270 | 84.6 | 86.0 | 85.6 | 0.83 8.1 4.7 - 52.0 | 30.0 -
3(.)M4 65-200/3 4 IE2 354 | 816 | 8.1 | 89.0 | 0.75 | 11.8 6.8 - 79.7 | 46.0 -
3LM4 65-250/4 4 5.5 IE2 475 | 87.6 | 89.0 f 88.5 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -
3LM4 65-250/5.5 5.5 7.5 IE2 6.52 | 74.7 | 819 | 88.6 | 0.83 - 11.3 6.6 - 114.0 | 66.1
3LM4 80-160/1.5 15 2 IE2 1.88 | 80.3 | 834 | 838 | 0.75 6.2 3.6 - 45.0 | 26.0 -
3LM4 80-160/2.2R 2.2 3 IE2 270 | 84.6 | 86.0 | 85.6 | 0.83 8.1 4.7 - 52.0 | 30.0 -
3LM4 80-160/2.2 2.2 3 IE2 270 | 84.6 | 8.0 | 856 | 0.83 | 8.1 4.7 - 52.0 | 30.0 -
3LM4 80-200/3 4 IE2 354 | 816 | 8.1 | 89.0 | 0.75 | 11.8 6.8 - 79.7 | 46.0 -
3LM4 80-200/4R 4 5.5 IE2 475 | 87.6 | 89.0 | 885 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -
3LM4 80-200/4 4 55 IE2 475 | 87.6 | 89.0 | 885 | 0.80 | 14.9 8.6 - 105.7 | 61.0 -
3LM4 80-250/5.5R 5.5 7.5 IE2 6.52 | 74.7 | 819 | 88.6 | 0.83 - 11.3 6.6 - 114.0 | 66.1
3LM4 80-250/5.5 5.5 7.5 IE2 6.52 | 747 | 819 | 88.6 | 0.83 - 11.3 6.6 - 114.0 | 66.1
3LM4 80-250/7.5 7.5 10 IE2 8.65 | 87.6 | 884 | 88.7 | 0.80 - 15.6 9.0 - 89.0 | 51.3

500

g E3ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TECHNICAL DATA

S50Hz

MOTOR DATA 3(.)S4-3(.)P4

Rev. |

Pump type Motor Input Efficiency (% load) Fullload current Locked rotor current
Efficiency and power-factor [A] [A]
3()s4 3()P4 Motor Power kW] no €571 230v | 400V | 690V | 230V | 400V | 690V
size | [kw] | [HP] 509% | 75% | 100%

3()S4 32-125/0.25 3()P4 32-125/0.25 71 | 025 | 0.33 - 041 | 550 | 590 | 640 | 066 | 1.6 | 0.9 - 50 | 2.9 -
3()S4 32-160/0.37R 3()P4 32-160/0.37R 71 | 037 | 05 - 056 | 60.0 | 63.0 | 67.0 | 067 | 21 | 12 - 68 | 3.9 -
3()S4 32-160/0.37 3()P4 32-160/0.37 71 | 037 | 05 - 056 | 60.0 | 63.0 | 67.0 | 067 | 21 | 12 - 85 | 4.9 -
3()S4 32-200/0.55R 3()P4 32-200/0.55R 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 32-200/0.55 3()P4 32-200/0.55 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - | 116 | 67 -
3()S4 32-200/0.75 3()P4 32-200/0.75 80 | 075 | 1 E2 | 095 | 792 | 803 | 802 | 076 [ 31 | 18 - | 171 | 99 -
3()S4 40-125/0.37R 3()P4 40-125/0.37R 71 | 037 | 05 - 056 | 60.0 | 63.0 | 67.0 | 067 | 21 | 12 - 68 | 3.9 -
3()S4 40-125/0.37 3()P4 40-125/0.37 71 | 037 | 05 - 056 | 60.0 | 63.0 | 67.0 | 067 | 21 | 12 - 68 | 3.9 -
3()S4 40-160/0.55R 3()P4 40-160/0.55R 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 40-160/0.55 3()P4 40-160/0.55 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 40-200/1.1R 3()P4 40-200/1.1R %S | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 40-200/1.1 3()P4 40-200/1.1 %S | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 40-200/1.5 3()P4 40-200/1.5 9L | 15 2 IE2 181 | 820 | 835 | 830 | 0.77 | 59 | 34 - | 376 | 27| -
3()S4 50-125/0.55R 3()P4 50-125/0.55R 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 50-125/0.55 3()P4 50-125/0.55 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 50-160/1.1R 3()P4 50-160/1.1R 9s | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 50-160/1.1 3()P4 50-160/1.1 90s | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 50-200/1.5R 3()P4 50-200/1.5R 9L | 15 2 IE2 181 | 820 | 835 | 830 | 077 | 59 | 34 - | 376 | 27| -
3()S4 50-200/1.5 3()P4 50-200/1.5 9L | 15 2 IE2 181 | 820 | 835 | 830 | 077 | 59 | 34 - | 376 | 27| -
3()S4 50-200/2.2 3()P4 50-200/2.2 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 51 - | 530 | 306 | -
3()S4 65-125/0.55 3()P4 65-125/0.55 80 | 055 | 0.75 - 080 | 67.0 | 69.0 | 700 | 072 | 28 | 16 - 99 | 57 -
3()S4 65-125/0.75 3()P4 65-125/0.75 80 | 075 | 1 E2 | 095 | 792 | 803 | 802 | 076 [ 31 | 18 - | 171 | 99 -
3()S4 65-125/1.1 3()P4 65-125/1.1 9s | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 65-160/1.1 3()P4 65-160/1.1 9s | 11 | 15 IE2 133 | 814 | 827 | 825 | 077 | 43 | 25 - | 263 | 152 | -
3()S4 65-160/1.5 3()P4 65-160/1.5 9L | 15 2 IE2 181 | 820 | 835 | 830 | 077 | 59 | 34 - | 376 | 27| -
3()S4 65-160/2.2 3()P4 65-160/2.2 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 51 - | 530 | 306 | -
3()S4 65-200/2.2R 3()P4 65-200/2.2R 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 51 - | 530 | 306 | -
3()S4 65-200/2.2 3()P4 65-200/2.2 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 5.1 - | 30| 306 | -
3()S4 65-200/3 3()P4 65-200/3 100L | 3 4 E2 | 347 | 853 | 866 | 86.4 | 077 | 11.3 | 65 - | 720 | 40| -
3LS4  65-250/4 3LP4 65-250/4 112M | 4 55 E2 | 459 | 860 | 873 | 87.1 | 078 | 147 | 85 - | 897 | 518 | -

3LS4 65-250/5.5 3LP4 65-250/5.5 132 | 55 | 75 E2 | 620 | 875 | 883 | 881 | 084 | - | 108 | 62 - | 799 | 461
3LS4 80-160/1.5 3LP4 80-160/1.5 9L | 15 2 IE2 181 | 820 | 835 | 830 | 077 | 59 | 34 - | sre| a7 | -
3LS4 80-160/2.2R 3LP4 80-160/2.2R 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 51 - | 530 306 | -
3LS4 80-160/2.2 3LP4  80-160/2.2 100L | 2.2 3 E2 | 261 | 840 | 853 | 851 | 074 | 88 | 51 - | 530 | 306 | -
3LS4  80-200/3 3LP4  80-200/3 100L | 3 4 IE2 | 347 | 853 | 866 | 86.4 | 077 | 11.3 | 65 - | 720 | 40| -
3LS4 80-200/4R 3LP4 80-200/4R 112M | 4 55 E2 | 459 | 860 | 873 | 87.1 | 078 | 147 | 85 - | 897 | 518 | -
3LS4  80-200/4 3LP4 80-200/4 112M | 4 55 E2 | 450 | 860 | 873 | 87.1 | 078 | 147 | 85 - | 897 | 518 | -

3LS4 80-250/5.5R 3LP4 80-250/5.5R 132 | 55 | 75 E2 | 629 | 875 | 883 | 881 | 084 | - | 108 | 6.2 - | 799 | 461

3LS4 80-250/5.5 3LP4  80-250/5.5 132 | 55 | 75 E2 | 629 | 875 | 883 | 881 | 084 | - | 108 | 62 - | 799 | 461

3LS4 80-250/7.5 3LP4  80-250/7.5 132M| 75 | 10 E2 | 848 | 885 | 804 | 892 | 085 | - | 144 | 83 - | 1065 615

501

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TECHNICAL DATA S50Hz
Rev. |
NOISE DATA 3(.)M4
Power
Pump type LpA - dB(A) *
[kw] | [HP]
3(.)M4 32-125/0.25 0.25 | 0.33
3(.)M4 32-160/0.37R 037 | 05
3(.)M4 32-160/0.37 037 | 05
3(.)M4 32-200/0.55R 0.55 | 0.75
3(.)M4 32-200/0.55 0.55 | 0.75
3(.)M4 32-200/0.75 0.75 1
3(.)M4 40-125/0.37R 037 | 05
3(.)M4 40-125/0.37 037 | 05
3(.)M4 40-160/0.55R 0.55 | 0.75
3(.)M4 40-160/0.55 0.55 | 0.75
3(.)M4 40-200/1.1R 1.1 15
3(.)M4 40-200/1.1 1.1 15
3(.)M4 40-200/1.5 15 2
3(.)M4 50-125/0.55R 0.55 | 0.75
3(.)M4 50-125/0.55 0.55 | 0.75 <70
3(.)M4 50-160/1.1R 1.1 15
3(.)M4 50-160/1.1 1.1 15
3(.)M4 50-200/1.5R 15 2
3(.)M4 50-200/1.5 15
3(.)M4 50-200/2.2 2.2
3(.)M4 65-125/0.55 0.55 | 0.75
3(.)M4 65-125/0.75 0.75 1
3(.)M4 65-125/1.1 11 15
3(.)M4 65-160/1.1 11 15
3(.)M4 65-160/1.5 15 2
3(.)M4 65-160/2.2 2.2 3
3(.)M4 65-200/2.2R 2.2 3
3(.)M4 65-200/2.2 2.2 3
3(.)M4 65-200/3 4
3LM4  65-250/4 55
3LM4  65-250/5.5 55 7.5 71
3LM4 80-160/1.5 15 2
3LM4 80-160/2.2R 2.2 3
3LM4  80-160/2.2 2.2 3 <70
3LM4  80-200/3 4
3LM4  80-200/4R 55
3LM4  80-200/4 55
3LM4  80-250/5.5R 55 7.5 7
3LM4  80-250/5.5 55 7.5
3LM4  80-250/7.5 7.5 10 <T0**
*Mean value of several measures at 1m distance around the pump.
Tolerance *2.5dB.
** Sound pressure level of motor pumps with AEG
502

B Eaana

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 SERIES 4 Poles

TECHNICAL DATA S50Hz
Rev. |
NOISE DATA 3(.)S4-3(.)P4
Pump type Power
LpA - dB(A) *
3(.)s4 3(.)P4 [kwW] | [HP]
3()S4 32-125/0.25 3()P4 32-125/0.25 0.25 | 0.33
3(.)S4 32-160/0.37R 3(.)P4 32-160/0.37R 037 | 05
3(.)S4 32-160/0.37 3(.)P4 32-160/0.37 037 | 05
3(.)S4 32-200/0.55R 3(.)P4 32-200/0.55R 0.55 | 0.75
3(.)S4 32-200/0.55 3(.)P4 32-200/0.55 055 | 0.75
3(.)S4 32-200/0.75 3(.)P4 32-200/0.75 0.75 1
3(.)S4 40-125/0.37R 3(.)P4 40-125/0.37R 037 | 05
3(.)S4 40-125/0.37 3(.)P4 40-125/0.37 037 | 05
3(.)S4 40-160/0.55R 3(.)P4 40-160/0.55R 055 | 0.75
3(.)S4 40-160/0.55 3(.)P4 40-160/0.55 0.55 | 0.75
3(.)S4 40-200/1.1R 3(.)P4 40-200/1.1R 1.1 15
3(.)S4 40-200/1.1 3(.)P4 40-200/1.1 1.1 15
3(.)S4 40-200/1.5 3(.)P4 40-200/1.5 15 2
3(.)S4 50-125/0.55R 3(.)P4 50-125/0.55R 055 | 0.75
3(.)S4 50-125/0.55 3(.)P4 50-125/0.55 055 | 0.75
3(.)S4 50-160/1.1R 3(.)P4 50-160/1.1R 1.1 15
3(.)S4 50-160/1.1 3(.)P4 50-160/1.1 1.1 15
3(.)S4 50-200/1.5R 3(.)P4 50-200/1.5R 15 2
3(.)S4 50-200/1.5 3(.)P4 50-200/1.5 15 2
3(.)S4 50-200/2.2 3(.)P4 50-200/2.2 2.2 3 <70
3(.)S4 65-125/0.55 3(.)P4 65-125/0.55 055 | 0.75
3(.)S4 65-125/0.75 3(.)P4 65-125/0.75 0.75 1
3(.)S4 65-125/1.1 3(.)P4 65-125/1.1 11 15
3(.)S4 65-160/1.1 3(.)P4 65-160/1.1 1.1 15
3(.)S4 65-160/1.5 3()P4 65-160/1.5 15 2
3(.)S4 65-160/2.2 3(.)P4 65-160/2.2 2.2 3
3(.)S4 65-200/2.2R 3(.)P4 65-200/2.2R 2.2 3
3(.)S4 65-200/2.2 3(.)P4 65-200/2.2 2.2 3
3(.)S4 65-200/3 3(.)P4 65-200/3 3 4
3LS4 65-250/4 3LP4 65-250/4 4 55
3LS4 65-250/5.5 3LP4 65-250/5.5 5.5 7.5
3LS4 80-160/1.5 3LP4 80-160/1.5 15 2
3LS4 80-160/2.2R 3LP4 80-160/2.2R 2.2 3
3LS4 80-160/2.2 3LP4 80-160/2.2 2.2 3
3LS4 80-200/3 3LP4 80-200/3 3 4
3LS4 80-200/4R 3LP4 80-200/4R 55
3LS4 80-200/4 3LP4 80-200/4 5.5
3LS4 80-250/5.5R 3LP4 80-250/5.5R 5.5 7.5
3LS4 80-250/5.5 3LP4 80-250/5.5 5.5 7.5
3LS4 80-250/7.5 3LP4 80-250/7.5 7.5 10
*Mean value of several measures at 1m distance around the pump.
Tolerance *2.5dB.
Sound pressure level of motor pumps with AEG
503

B Eaana

EBARA PUMPS EUROPE S.p.A.





